CTET L1 HINDI L2 ENGLISH P1

Topic:- CDP_P1_S1_CTET
1) Which period marks the transition from childhood to adulthood ?
(1) Early childhood
(2) Middle childhood
(3) Preoperational period
(4) Adolescence

FATT F FATEAT & THATTHA FT THT FIF-A7 ¢ 2

(1) 9= FTeATEEAT
(2) FrEAtE ATeATEET
(3) TH-HTFATHT AT
(4) FeteTaeaT

[Question ID = 1][Question Description = CTET_P1_PART_1_CDP_SET_124_Q1]

1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2) Which of the following would require use of gross motor skills ?
(1) Painting on a paper using brush
(2) Cutting and pasting bits of paper
(3) Threading the needle
(4) Walking and running

e § # Forer TorT =211 T 1erer 3 3T AT ATeTFAT AT ?

(1) &er 7 9T 97 FTET FHTAT

(2) 99T = T FeAT AT =TT
(3) 7T & GWIT ST

(4) =TT AT ZA=AT

[Question ID = 2][Question Description = CTET_P1_PART_1_CDP_SET_124_Q2]

1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]



3) Thefirst primary agent of socialization is
(1) family
(2) school
(3) friends
(4) media

HATHTS 20T T TIH TET
(1) af=T™

(2) =
(3) 3=
(4) Hifzar

[Question ID = 3][Question Description = CTET_P1_PART_1_CDP_SET_124_Q3]
1 [Option ID = 9]

2 [Option ID = 10]

3 [Option ID = 11]

4 [Option ID = 12]

A W N -

4) The belief that physical objects such as dolls, cars, etc have life-like qualities is called -
(1) animistic thinking
(2) hierarchical thinking
(3) centration

(4) categorization

I |reAar o @i aequ S5 AT, FT F TS 007 21 2 AT Fgeardl g ?
(1) STr==aTaT 7=
(2) TETTHET AT
(3) TR
(4) A=
[Question ID = 4][Question Description = CTET_P1_PART_1_CDP_SET_124_Q4]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]

3. 3 [Option ID = 15]
4. 4 [Option ID = 16]



5) Assertion (A) :
Four-year-old Riya cannot take into consideration the height and width of the two beakers at

the same time while pouring the same amount of water into tall and wide beakers.

Reason (R) :
Riya is at Preoperational stage of cognitive development as per Jean Piaget.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

)

)
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.

FIAFT (A) -

=T aut Far @ &Y 31 37 F99 § OF g a9T § JHE G0 § IO Sted
T FAAT H1 HATS AT F(ETE FT TF 0 T97 F &9 § A2 77 T g |
FTT(R) -

st Tt = e o demreas B & qE-afmareas 9 H g
el fAaFeT 7 |

(1) (A) 3% (R) =T &L § 7 (R), (A) FT AT =ATAT FLAT |

(2) (A) 31T (R) =TT &L @167 (R), (A) T /LT =0T T € |

(3) (A) T & A6 (R) T4 ¢ |

(4) (A) &= (R) Frt T £

[Qut[estion ID = 5}[Question Description = CTET_P1_PART_1_CDP_SET_124_Q5]

2. 2 [Option ID = 18]

3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6) Giving cues and offering support to children as and when required is an example of

(1) Scaffolding

(2) Reinforcement
(3) Conditioning

(4) Cognitive conflict

HeRd | o e LT QT == 1 0l Weed Teq T7 TEE FIAT et S20gem g ?

(1) arE
(2) T
(3) sFgaET
(4) F=ATHT 35

[Question ID = 6][Question Description = CTET_P1_PART_1_CDP_SET_124_Q6]
1. 1 [Option ID = 21]



2. 2 [Option ID = 22]
3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7) The application of Vygotsky's theory to children’s education proposes

(1) collaborative learning
(2) operant learning
(3) rote learning

(4) passive learning

Tt 7 foreT  form AvnTeet F T i AT ST AT S
(1) T WITHS ATETH

(2) T AtaTs

(3) T&wT AfaTT

(4) FRfesr srfam
[Question ID = 7][Question Description = CTET_P1_PART_1_CDP_SET_124_Q7]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]

3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8) In Kohlberg's of moral development the individual strives to maintain the
expectations of others rather than focus on the consequences of one’s actions.

(1) Preoperational level

(2) Pre-conventional level
(3) Conventional level
)

(4) Post-conventional level

FIEAT & dqia® =AH & e 300 | =5 9uq =ZEge F 7R & a9
(1) TH-H T =7
(2) TH-TEATITE F90
(8) TEHEHTT FE0
(4) TA-TTIITT 50T
[Question ID = 8][Question Description = CTET_P1_PART_1_CDP_SET_124_Q8]
1 [Option ID = 29]
2 [Option ID = 30]

3 [Option ID = 31]
4 [Option ID = 32]

A wWN =



9) A progressive classroom is

(1) Examination-centric
(2) Textbook-centric
(3) Teacher-centric

(4) Learner-centric

T Feriaefer Far
(1) TreAT-Hfeaa gt 2
(2) TTEIETE- iR Bl 8
(3) Fre=m-FesT grar €
(4) FF=mfi-Fiea grdar g
[Question ID = 9][Question Description = CTET_P1_PART_1_CDP_SET_124_Q9]
. 1 [Option ID = 33]
. 2 [Option ID = 34]

1
2

3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10) Renu is a counsellor at a school. Which intelligence should she have to be an effective
counsellor as per Howard Gardner’s theory 7
(1) Linguistic
(2) Spatial
(3) Interpersonal
(4)

4) Intrapersonal

] UE FEmew § uemeEEn € ) g WeAw & Mared & AqEre TErEt
TETHITETAT % B § IS TH HA-AT qlg gl AMET ?

[Question ID = 10][Question Description = CTET_P1_PART_1_CDP_SET_124_Q10]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11) According to NEP 2020, which language should a teacher use for interacting with primary
school children during the teaching-learning process ?

(1) Only the regional language

)
(2) Only Hindi language
3) Only English language
)

(
(4) Mother tongue of the children



ety forear /ifa 2020 F s, v forers = forgor-afamms sfawar & S
ATHAT T F T==1 & H9gor F o B G F71 99090 FA17 Jiig0 ?

(1) F=eT ST qTIT F

(2) Farer T24T |raT 7

(3) FAT SIS ATHT T

(4) T==1 =¥ JIF AT FT
[Question ID = 11][Question Description = CTET_P1_PART_1_CDP_SET_124_Q11]
1 [Option ID = 41]
2 [Option ID = 42]

3 [Option ID = 43]
. 4 [Option ID = 44]

AW N =

12) Five-year-old Vaishali told her mother. “"Mother, | want a football like Amit.” Responding to
Vaishali, her mother said, "Only boys play with football, | will bring a small cute doll for you.”
The mother’s response illustrates
(1) Gender Role Flexibility
(2) Gender Equity

(3) Gender Stereotyping
(4) Gender Relevance

TIS | 6T AIATAT T ATHT A1 H Figl | “HF, TH AHT A T7g Feara A |
FATAT FT AT Iq gL IT01 A1 F Fgl, "FeaTa § q1 Faq A+ gad g, &
Trer oo v gy = = A asst 17 |9t w saw =1 fEmEr g 2

(1) Si=7 o= & T
(2) o T FroaT

(3) feivr =igargar

(4) o1 wTE AT

[Question ID = 12][Question Description = CTET_P1_PART_1_CDP_SET_124_Q12]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13) Labelling of children and placing them in categories

(1) enhances and facilitates meaningful learning.
(2) creates a sense of helplessness and inferiority amongst a group of children.
(3)is a positive strategy to manage the learning needs of all children.

(4) does not have any impact on the self-esteem and performance of children.



F=AL T ATHIHI0T 7 v AN | AleAT

(1) 3TqoT H T T FTETAT ST T TATTET FHT |

(2) ==t % Tgg F ST dre #a i A= F S =w |

(3) =T === F ATHITH T FTELAL T LI FH2q 6 T T TR T 2 |
(4) F=AT F AT AT TIAT UL 1L TATT TET ST |

[Question ID = 13][Question Description = CTET_P1_PART_1_CDP_SET_124_Q13]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14) Continuous and comprehensive evaluation means

(1) comparing the students with each other

(2) assessment covering all aspects of school activities related to child's overall development
(3) evaluation of child's performance on the basis of scholastic activities only

(4) evaluation of the children at the end of the year to determine promotion to the next class

AT T T GeA A & 797 7T g 2
(1) =TT it UEH-ZHT T AT HIAT

(2) 7= F =T+ FAFwrE T S qdT SpeAr TAAETAT F AvAd & qH T
T 9IRS F2AT
(3) FAT SITar TIATATETT & A % T=A1 % T AT oATHT FoAT
(4) |1 F 3T H T=A1 T GATHA HIAT 9ol el FeAT § TZeA1 F1 (=0T
@ = TorT gearTeE
[Question ID = 14][Question Description = CTET_P1_PART_1_CDP_SET_124_Q14]
. 1 [Option ID = 53]
. 2 [Option ID = 54]

1
2
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15) Effective teachers often use probing questions during the course of teaching-learning
processes in the classroom. This would enable the teacher to undertake

(1) Summative assessment
(2

)

) Formative assessment

3) Standardised assessment
)

(
(4) Norm-referenced assessment



b O e o 1 e O ) s o e S e e o 0 e = S el e e T e B = o B
AR 74 & | T a® F1 F gH6 #7 geaiEa F79 § 733 {2

(1) TR Gedih

(2) THATHF AT

(3) AT qeai=e
(4) AR T oA

[Question ID = 15][Question Description = CTET_P1_PART_1_CDP_SET_124_Q15]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16) Role of teacher in an inclusive classroom is to
(1) address and respond to the diverse needs of all children
(2) give attention to some special students ony
(3) identify and segregate children based on their academic abilities

(4) refer special needs children to a specialist and ensure that they are taught in a separate
section

= FHTAT FeAr | forferwr 7 7 v g 2

(1) ===t F1 A= STE=LAT FT TAT AT T 07 24T TG
(2) FAeT T T A=A a7 e 3T
(3) T=AT HT ITHT AFTIHF AHAT F AT T TgATAAT o IeAHT JIFHLIT FHTAT
(4) BT FEIAT AT F=a1 0 AT F I IST4T T A2 F7A77 % Ieg, AT
T § 9T o
[Question ID = 16][Question Description = CTET_P1_PART_1_CDP_SET_124_Q16]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]

3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17) What should a teacher keep in mind while teaching a diverse group of learners ?
(i) Acknowledge and respect every student
(i) lgnore cultural differences
(iii) Maintain consistent communication
(iv) Give indirect instructions

(v) Give students autonomy and flexibility

(1) (1) (i) (iif)
(2) (i) (iii) (iv)
(3) (i) (i) (v)
(4) (i) (iv) (v)



Aty oag & F=nf@=t & e % S us T &0 a1 | § T e
e ?
(i) = Fremff =i ST 7 ae Z=
(i) FieRta® ATI=Taret =1 d9=ar F247
(iii) TET HATOT FATT T
(iv) soreaer f3er 30
(v) TEr=nfae v sara=ar & ST 59
(1) (i) (i) (iii)
(2) (i) (i) (iv)
(3) (1) (i) (v)
(4) (iii) (iv) (v)

[Question ID = 17][Question Description = CTET_P1_PART_1_CDP_SET_124_Q17]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18) To cater to the specific needs of child with visual disability, the teacher should
(1) focus on a variety of visual presentations
(2) use a variety of tactile manipulative and materials

(3) show az lot of silent films
(4) give a lot of structured worksheets with pictures

u fE=mdft o gfeantamr g, i @t szt & oo v foverss =

(1) By a7z ¥ 3foTs weagdeao 0% e AT TR

(2) FE T T T e SEA I AT BT STAR FAT AT
(3) g T 3% T Tt =fe

(4) TE A Tl Ao et e &7 S =R

[Question ID = 18][Question Description = CTET_P1_PART_1_CDP_SET_124_Q18]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19) Difficulties in social interaction and verbal communication is a typical characteristics of

(1) Autism

(2) Attention Deficit Hyperactivity Disorder
(3) Dyslexia

(4) Dyscalculia



AT A AT ST " Guar § FEE1 e At afdersor g 2

(1) =TT

(2) FFET LAt St tmarsiaar @we
(3) TFAAFA

(4) TorSTF

[Question ID = 19][Question Description = CTET_P1_PART_1_CDP_SET_124_Q19]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20) The teacher gives clays of different colours to the children and asks them to make whatever

comes to their mind from that clay. Through this, she wants to promote in children.
(1) Creativity
(2) Rote memarisation
(3) Non-cooperation
(4) Indiscipline
forers ===t =1 At 0 At =T g 67 Fgdr g & 59 99 F S A
S AT AN | TAF AN, AZ A=A H ____ FHARMAT AT ATgaAl g |
(1) T
(2) T&AT

(3) AT
(4) FLTTET AT

[Question ID = 20][Question Description = CTET_P1_PART_1_CDP_SET_124_Q20]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]
21) The early primary years of childhood should focus on the development of
(i) physical skills
(i) social skills
(i) cognitive capabilities
(iv) emotional skills
(v) abstract reasoning

(1) (0 (i)

(2) (i) (i)

(3) (3) (i) (iii) (ivr)
(4) (i) (i (i) (iv) (v)



FFIT % T ATl | (e A 9T &I FHiegd Hiear 91g0 ?
(i) AT Frerew
(i) TS Hrere
(iii) HSATATHF AHAT
(iv) FHAITHF FI9TAT
(v) & T%
(1) (1) ()
(2) (i) (1)
(3) (1) (i) (iit) (iv)
(4) (i) (i) (i) (iv) (v)
1[.Q1u<[ecs)[t)itci)or:] |I|; =821; J[Question Description = CTET_P1_PART_1_CDP_SET_124_Q21]
2. 2 [Option ID = 82]

3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22) In a constructivist classroom, meaningful learning

(1) refers to the storage and retrieval of information.
(2) is the process of discovery through exploration and interaction.
(3) occurs through the use of rewards and punishment.

(4) takes place through repeated practice and drill.

THATATAT F4T H, 0T Hiar

(1) STTTT % WET0 3 YIATSH 7 a1 2 |

(2) A=TOT o - THIT F ZT =re & IiEaAT g |

(3) ZATH 7 HSAT F AN H ZEAT1 2 |

(4) ATEATT AT TAT ALATH T AT 2 |
[Question ID = 22][Question Description = CTET_P1_PART_1_CDP_SET_124_Q22]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]

3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) A teacher begins to works together, by giving cues and prompts, with a student who is unable
to understand a concept. This process is referred fo as
(1
(2
(3
(4

scaffolding
teacher-centered pedagogy

maintainance rehearsal

L e -

direct instruction



e TOrfErET v F==, ST UF JAGT F A9AT § 999y g, F A9y Heww
FAT § I TATE T g | Tg THaAT FAT Fgearl § ?

(1) 91
(2) Forer=-arfesa e

(3) AT AT
(4) s=mer AT

[Question ID = 23][Question Description = CTET_P1_PART_1_CDP_SET_124_Q23]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24) Assertion (A) :
A teacher tries to include examples from the immediate environment of children to make the
classes interactive.
Reason (R) :
Socio-cultural context plays an important role in learning.
Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.

FrIFTT (A)
UF TATEEFT F9T FT GG=THF 919 F [0 g=31 F A999 5 99597 J
FRELUT ATIH FTAdl g |
7% (R) :
AT H-A T o A2H il Tiae § Fgea ol Gaar g |
el fAaFeT 7 |
(1) (A) &7 (R) =11 |2 € A7 (R), (A) T HeT =TT Fa7 2 |
(2) (A) AT (R) =TT AT € i (R), (A) T 51 =141 751 2 |
(3) (A) 5ET & AT (R) T 2 |
(4) (A) &% (R) =TT TATZ |
[Qut[estion ID = 2;1][Question Description = CTET_P1_PART_1_CDP_SET_124_Q24]
2. 2 [Option ID = 94]

3. 3 [Option ID = 95]
4. 4 [Option ID = 96]



25) What will pose as a hindrance to a child in solving a problem ?

(1) Identifying the problem correctly
(2) Defining the problem clearly
(3) Thinking of similar problems that one has solved

(4) Remaining fixed at using objects in a conventional manner

=T § 7 =797 == F 99T THITE § 79T 30T F4T ?

(1) FHEIT FT HET | UgA AT

(2) FHEIT T FTCAT | Of 9T FTAr

(3) 7= e e AT -oeret ArEeet F AT F Fr=An

(4) =TT F TEATA F ATLFAT0 q206 T2 (8w 7T
[Question ID = 25][Question Description = CTET_P1_PART_1_CDP_SET_124_Q25]
1. 1 [Option ID = 97]
2. 2 [Option ID = 98]

3. 3 [Option ID = 99]
4. 4 [Option ID = 100]

26) Assertion (A) .
Mistakes and errors made by the students are indicative of the failure of the teachers and the
students.
Reason (R) :
Children do not have the ability to think on their own and need to be constantly instructed to
ensure learning.
Choose the correct option.

(1) Both {A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

HTHFIT (A) :

=it g #7 7E wertaat 7 Aot vt 7 FentE ft a@werar F# 3amE
gl

T (R) :

F=a1 9 G H AT 1 7T 7gl a1 a47 A5 qiae i gifaa 79 & o
g A Mo I AET 2 |

el fawed 9 |

(1) (A) ST (R) T AT ST (R), (A) T qgT 22T FTGT L |

(2) (A) AT (R) T &Y § 0 (R), (A) H7 70 =TT 721 2 |

(3) (A) T g wrfhe (R) 114 € |

(4) (A) & (R) ST 0T 2 |



[Question ID = 26][Question Description = CTET_P1_PART_1_CDP_SET_124_Q26]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]
27) Which of the following is notan emotion ?
(1) Memory
(2) Anger
(3) Love
(4) Fear

frfRrr & & Fim-ar a7 7@ e 2
()=

(2) Bre

(3) =

(4) w7
[Question ID = 27][Question Description = CTET_P1_PART_1_CDP_SET_124_Q27]
. 1 [Option ID = 105]
. 2 [Option ID = 106]

1
2
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28) What strategies can a teacher use to increase intrinsic motivation in her primary grade
students ?

(1) Praise each and every effort made by every student
(2

)

) Punish undesirable behaviour

(3) Promote competition amongst students
)

(4) Encourage children to experience joy of learning

srerteen farternT s FE=feaT F siates atewswon v @y 29 F o = 57
qHAT 2 ?

(1) 2% TE=mi = 2% UF 5478 T 9067 Fh

(2) AATSATT SEEIE FT S F0h

(3) FE=nf¥= & yia=Tet =1 9=7E7 3597

(4) F==T FT HE= § = T A7 F1 Teangg F00
[Question ID = 28][Question Description = CTET_P1_PART_1_CDP_SET_124_Q28]
. 1 [Option ID = 109]

. 2 [Option ID = 110]

1
2
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]



29) Overall physical and mental well-being of the child learning.

(1) does not affect
(2) hinders

(3) is not related to
(4) facilitates

F=9 T A ATN0H F A THF FATET FTEH |
(1) =1 FETEAT T FLAT

(2) HATAT ETAAT B

(3) 7 TETaT 7&l ¢

(4) =1 FETIET F2aT g

[Question ID = 29][Question Description = CTET_P1_PART_1_CDP_SET_124_Q29]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30) Rubhi believes that she did not study properly which is why she did not get good marks in her
science test though she can do science quite well. She is atiributing her performance to

(1) environmental factors
(2) lack of ability
(3) lack of effort
(4) tough luck

=20 H qAAT g % 9Ae A 7 uEre Tgn A o4 s o 3w fwe i
THAT § q= =T qE A0 FatH Ag B F agd d=un q=9iT FT awdql g |
TRl AU TZT HT AT 00 FF T HC gl g 2

(1) T TE T FeF

(2) FTTAT T FHT

(3) FfSrer #Fr FHHT

(4) T wrT
[Question ID = 30][Question Description = CTET_P1_PART_1_CDP_SET_124_Q30]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]

3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_Q31-45_P1_S1_CTET



1) The difference between the greatest four-digit number and the smallest four-digit number,
when divided by 15, leaves the remainder :

HTT ST T T TET HET TAT I H AT T G AT F AT T TT 15 9
qTT T237 S0, 7 9Tl g

(1) 11
(2) 12
(3)13
(4) 14
[Question ID = 31][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q31]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]

3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2) (11 ones + 10 tens + 12 hundreds — one thousand) is equal to
(1)310
(2)311
(3)312
(4)313

(11 ZFT=aT + 10 FTZI2AT + 12 T — U FAR) TEL 2

(1) 310

(2) 311

(3) 312

(4) 313
[Question ID = 32][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q32]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]

3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3) The difference between the Smallest Common Multiple and the Highest Common Factor of 15,
20and25is



15, 20 T4T 25 F TaH Gle A4 OTH AT TALT T AT OAEE FT AqTE

(1) 115
(2) 140
(3) 275
(4) 295

[Question ID = 33][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q33]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

4) What should be added to the product 201 x 105to get 21171 ?

UEE 201 x 105 H =47 |rT 51, e 21171 9rea 212

(1)65
(2)66
(3)67
(4)68

[Question ID = 34][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q34]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

5) In a school, there are 1260 students, out of which two-third are boys and the rest are girls.
Three-fourth of the number of boys are players and half of the number of girls are also players.
The number of students who are not players in the school
is

(1) 380

(2)400

(3)420

(4)450



T FEme 7, 1260 Bt 2, ©@E T =-Agre a5+ ¢ & a7 et 2 |
ASHL T TEAT T A A-ATATE GATRT ¢ AT A1 1 Jear % et o et 2
| e | FEentt 1 e, o T agi g, F e

(1) 380
(2) 400
(3) 420
(4) 450
[Question ID = 35][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q35]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]

3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

3 .9
) How many z are there in T ?

(13
(2)6
(3)°
(4)12

(4)12

[Question ID = 36][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q36]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7) Neena bought 3 kg 850 g onions and 1 kg 800 g tomatoes from a vegetable shop. By what
amount does the weight of onions exceed the weight of tomatoes ?
(1)1kg150g
(2)2kg650g
(3)2kg 1504g
(4)1kg 850g



FTAT 7 U el A gFF H, 3 kg 650 g TATS #iT 1 kg 800 g FHIET FEIR |
TATST T ATE ZHIEL % A A Fhar gfes g 2

(1)1 kg 150 g
(2) 2 kg 650 g
(3)2 kg 150 g
(4)1 kg 850 g

[Question ID = 37][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q37]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8) On a map, half centimetre shows 225 km an the ground. If two cities are 1800 km apart on the
ground, then the distance between them on the map is :

(1)3 em
()

(3)6 cm
(4) 8 cm

4 em

T A= T AT HErdiey, O 97 225 km F7 390007 3 | T2 219790 o9
T G 97 4T 1800 km g, T A= T2 I A4 HT T 3 -

(1) 3 cm

(2)4 cm

(3)6 cm

(4) 8 cm

[Question ID = 38][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q38]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]

3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

) The number of minutes in ?% days is equal to the number of seconds in
(1) 3 hours
(2)'3% hours
(3) 4 hours

4,1
()42 hours



1 s - » - - s - . -, -
7 &A1 § At i wey e Jehet i 8% F aeee g
(1) 3 5

1 =
(2) 3 =
(3)4 =z
1 =
(4) 4
[Question ID = 39][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q39]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]

3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10) The number of cubes of side 30 cm which can be fitted in a cubical box with measurements 7-2
mx 54mx 18 mis:
(1) 2592
(2) 2594
(3) 2596
(4) 2598

30 cm ST JTA FA7 T FHEAT, ST UF FATATRT T, ot 79 72 m o«

54m x 1-8mg, H™E AT AFd g, M= 2 :

(1) 2592

(2) 2594

(3) 2596

(4) 2598

[Question ID = 40][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q40]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11) The total number of right angles in the English letters 'H and 'E’ is
(1)5
(2)6
(3)7
(4)8



S o AL H T E H® AHE00 e 9T g
(1)5
(2)6
(3)7
(4)8
[Question ID = 41][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q41]
. 1 [Option ID = 161]
. 2 [Option ID = 162]

1
2
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12) The perimeter of a square is 120 cm. The length of a rectangle is two times the side of the
square. The perimeter of the rectangle is 156 cm. What is the difference between the areas of
the rectangle and the square ?

(1)90 cm’

(2) 145 cm’
(3) 150 cm’
(4) 180 em”

T AR AT TEATT 120 em g | BT e i dare 7 A Ay ge i T
AT T TEATT 156 cmqlwﬁTaﬁ%WﬁWw%?

(1)90 cm”

(2) 145 cm”
(3) 150 cm”
(4) 180 cm”

[Question ID = 42][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q42]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13) The marks obtained by 25 students in a test are given below :
54,68,42,71,56,62, 71,78, 51, 72, 53, 44, 58, 47, 64, 41, 57, 89, 53, 84, 57, 45, 48, 52, 62
How many students obtained marks between 55 and 75 ?

(1)10
(2)11
(3)12
(4)13



et 2w &, 25 Pt g ureas #= foan £

54,68, 42, 71, 56, 62, 71, 78, 51, 72, 53, 44, 58, 47, 64, 41, 57, 89, 53,
84, 57, 45, 48, 52, 62

e A= & ureis 55 T 75 F 7 5 2 2

(1)10
(2)11
(3)12
(4)13

[Question ID = 43][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q43]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

14) The following table shows the number of books sold by a shopkeeper in € days of a week :

Days Sunday | Monday Tuesday |Wednesday| Thursday Friday

Number of 65 40 30 50 20 70
books sold

What is the difference between the total number of books sold by the shopkeeper on Sunday,
Monday and Thursday, and the total number of books sold on Friday and Wednesday ?

(1)5
(2)4
(3)3
(4)6
o= arforsT UF TR 51T 99ag % 6 3T § 397 I TSl A G #i
T 2

SATTE | 65 40 30 50 20 70
TEERT A
HET

A7 9[FATE TAT TEATE &0 a=31 T2 THAH1 il T &7 § 7 3§47 2 2

(1)3
(2)4
(3)3
(4)6

[Question ID = 44][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q44]



1 [Option ID = 173]
2 [Option ID = 174]
3 [Option ID = 175]
4 [Option ID = 176]

A W N -

15) Observe the pattern below :
2x1=2
3x2=86
5x3=15
7 x4 =28
11 x5 =255
13 x6 =178
17 x 7 = 119
19 x 8 = 152
- X G=
Identify the missing numbers respectively in the above pattern.
(1)21 and 188
(2)23 and 207
(3)25 and 225

(4) 29 and 261

T G2 T AAA T S
2x1=2

3x2=86

S5 x 3 =15

7 x4 =28

11 x5 =55

13 x 6 = 78

17 ~ 7 =119

19 = 8 = 152

. =@ =

ST Ted | o T 1 HEe: TgATA |

(1) 21 T 189

(2) 23 #T 207

(3) 25 v 225

(4) 29 &7 261
[Question ID = 45][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q45]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]

3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

Topic:- MATH_Q46-60_P1_S1_CTET



1) For primary grade children an understanding of ‘approximation and estimation’ would lead to
the development of which of the following concepts ?
(a8 Transitivity
(b) Measurement
(c) Patterns

(d) Calculations
Choose the correct options :

(1) (a), (c) and (d)
(2) (a), (b) and (c)
(3) (b), (c) and (d)
(4)

a), (b) and (d)

3
4

— e e

TTATHF Goft % F==1 & o0 qierwe vd dqar it 79z FetatEag gaears
# | g deqar & e #F &7 of Srusy ?

(@) H&THAT

(b) =TT

(c) THAT

(d) wfeherat

gl fAFeT 1 577 ffe

(1) (a). (c) &= (d)
(2) (a). (b) &7 (c)
(3) (b). (c) =M= (d)
(4) (a). (b) &7 (d)

[Question ID = 46][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q46]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

2) When asked to write five hundred sixty seven a child writes it as 50067. What could be the
most appropriate reason for this error ?
(1
(2
(3
(4

Child is not attentive in the class and is a careless listener.

Child is a careful listener but has not establised the concept of place value.
Child recognizes only two-digit numbers.

Teacher's inability to teach the concept of place value.

T o e o



& UF =4 W I A7 795 F1 forEd F O Fgr 14w, 99 399 39 50067
foraT | | A FT AT SUGFT HI0T FAT 27 TFaT ¢ 2

(1) FT=AT FET H &4TH 751 3 L@ g A TFH ATIEATg A1 2 |

(2) FT=AT UF T ATAT ¢ e TATHIT HIT 6 AALTIOT AT TG Al H2 04T
gl

(3) F=AT FAT IT-HAHIT HEATT TZAAT 3 |

(4) TATHT AT T AT T2 F Forersh v qArhrH |

[Question ID = 47][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q47]

. 1 [Option ID = 185]

. 2 [Option ID = 186]

1
2
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

3) Which of the following is an example of cultural specific knowledge that is displayed in early

mathematics learning by very young children ?
(1
(2
(3
(4

Number words used by the learners
Number operations

Spatial understanding

T o e S

Solving mathematical puzzels etc.

et | | F19-A71, Hepia =792 J9 F71 IIL0 2 S0 T T =97 %
it A3 | g mie =1 g yIiT A §rar g 2

(1) ATERTHFAT T TIF AT 953

(2) T "
(3) BFeaT "ot 791
(4) FrfoTetrar gEferat arfs ger ear

[Question ID = 48][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q48]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

4) Which one of the following statements is true with respect to mathematics learning ?

(1) Boys are better at learning mathematics as compared to girls

(2) There must be separate classrooms for children with special needs as they cannot learn

with other children
(3) Everybody can learn mathematics

(4) Procedural fluency in mathematics will always lead to conceptual clarity



At § & F9-A71 FoAe T 5 AT F qe § q21 2 ?

(1) ETHAT T AT F T T(0TT A 1A F Sga~
(2) AT AFeTFATE AT T=AT F (0 AT FATY giAT AT 10 4 AT
F=A1 % qTF gl H1F 76 g
(3) weae = ST |1 Tar g
(4) T | ufaTeT TATg AT ATLTIOMHF TACEAT i AL o ST
[Question ID = 49][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q49]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]

3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

5) National Curriculum Framework, 2005 argues for a mathematics curriculum which is
"ambitious”. Which among the following is/are most appropriate to represent this vision ?
(a) Curriculum needs to develop students’ capabilities in numeracy.
(b) Curriculum needs to develop students’ inner resources to think and reason
mathematically.
(c) Curriculum needs to develop students’ ability in solving mathematical puzzles.
Choose the correct option :

(1) (a) and (c)
(2) Only (b)

(3) (b) and (c)
(4) (a) and (b)

T ITEEAT 9T, 2005, T f 9rS=At f "l g o o

T e FOAT 2 | TH 02 & 3909 & (o0 Weararad § § FE-a7/F q9ias

I e ?

(@) TTEIEAT & HEAT-AE § FEntaar £ auarst w71 FE 5w
HA9TF 2 |

(b) uTEI=AT & AT SaT va Fa=w F o Gt F gt
HHETEAT FT 319 FTAT AF99F 2 |

(c) WTEI=HT HT AOATT T AT HT 27 FoA H HATAAT T STHAT &7
AT AT ATTF E |

el A% 1 537 e

(1) (a) ¥ (c)
(2) ¥ (b)

(3) (b) ¥ (c)
(4) (a) ¥ (b)




[Question ID = 50][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q50]
1 [Option ID = 197]
2 [Option ID = 198]
. 3 [Option ID = 199]
4 [Option ID = 200]

A W N -

6) According to National Curriculum Framework 2005, primary stage mathematics curriculum
should least focus on
(1) development of relevant mathematical vocabulary
()

(3) identification of patterns

(4) use of standard algorithms to solve problems

development of spatial understanding

TTSET IT5T=GT 94ET 2005 F JATE, TTATHE T97 % 009 G5TwH &
T oA FH Fifwd gMT1 J120 |

(1) FTETT AT T 9TsaTE T & AT

(2) BAFraT "5adt a9zt F @A

(3) wfaaT=i/Ffa=aT Hit Tg=TT

(4) FHETAT T ZA 2 = (o117 AT FeAq-[a 841 & ITIET
[Question ID = 51][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q51]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]

3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

7) Which of the following is notan objective of formative assessment ?

(1) To know about child's misconceptions
(2) To assess the child's understanding in construction of knowledge
(3) To introduce a new concept based on the previous concept

(4) To know if & teaching strategy is appropriate or not

ReAferfes 9 7 F19-97 THATEF ATFad #3297 T@i g 2
(1) &= T Fitagt F a7 § A7

(2) 57 & =T § a== 7 99T F AT

(3) el FAFATIOT U7 AT T ATLTEOT T Teqd FedqT
(4) 7g Srerr 5 fereror g/ f=ter gugera g ar 78t

[Question ID = 52][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q52]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]



8) A primary teacher is focusing on the development of mathematical reasoning skills in her
students.
Which of the following tasks may help her in the most appropriate manner ?
(1) Using mathematical games and puzzles in her class
(2) Giving a lot of questions, based on a given formula, to practice
(3) Conducting regular class tests
(4) Solving textbook questions on the blackboard

AT FEAT i U ferterET srue FEnten § aiver T/ EaeT e &
A oz e FEa s e |
feaforfed § & F19-8 F14 ! T80 SULFT a9 1% o TgIaar F T g 2

(1) ST FeAT F IO FTETAT AT TIOAT T FAHTT FeAT
(2) ererrer % o, 3 T v T O st g A 9eT J4
(3) FRrf=a =ear TTeatatl 71 A F:AT

(4) STTATE U TTSIE & TAT T T FHLAT

[Question ID = 53][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q53]

1. 1 [Option ID = 209]

2. 2 [Option ID = 210]

3. 3 [Option ID = 211]

4. 4 [Option ID = 212]

9) Which of the following represents the recommendations of National Education Policy (NEP)

2020, for curriculum and pedagogy in schoal ?

(a) Learning should be holistic and integrated
(b) Restructuring school curriculum and pedagogy in a new 5+3+3+4 design
(c) Restructuring school curriculum and pedagogy in a new 5+2+3+3 design
(d) Foundational stage should include learning from formal textbooks

Choose the correct option :

(1)(a) and (c)
(2) (a) and (b)
(3) (b) and (d)
(4) (c) and (d)



FeAforfad § | F-A1 S0l 5 ISa=EaT T 0rrenes & o et forar A
(NEP) 2020 T J&aTa=Tal T fH=a0 FqT1 g ?

(a) arfeeTe mwr s T ST SR

(b) 5+3+3+4 F AU fEwreA H et UEAHH AT oottt #r

(c) 5+2+3+3 F 71 fEwes ¥ e Trzmwy @ formeme &

TS FEAT
(d) TSS9 T | A= TTSTLETH F ATERTH FAEA AT 2T
Hal faseT 7 =37 e

(1) (a) &% (c)

(2) (a) ¥ (b)

(3) (b) 3% (d)

(4) (c) 97 (d)
[Question ID = 54][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q54]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]

3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

10) A teacher uses manipulatives such as blocks, marbles, etc. for developing the concept of
multiplication. Use of such mainpulatives :

(1) creates confusion among learners
(2) hinders the understanding of the formal algorithms
(3) provides leisure time to young children
(4) helps in conceptual learning

T fOrE gEARIe AT w9 6 siE, A1Ee, TETs & S9AnT U A
FAIEOT T fAwiaT Fen F O F2ar g | 37 I A geashree arEiy w

(1) foreni=ant | gEVATETH FoAw HLAT §

(2) =TI e -t a1 HHAT § AT ST g

(3) 1= F==1 T ATeAT THT 39T g

(4) ATHTIOHT ATERTH F TETIF 271 8

[Question ID = 55][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q55]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]

3. 3 [Option ID = 219]
4. 4 [Option ID = 220]



11) Which of the following is used to analyze the misconceptions and learning difficulties of
children in a particular concept ?

(1) Norm-Referenced test
(2) Criterion-referenced test
3) Diagnostic test

)

(
(4) Remedial teaching

fAeaferfaa § & fFee guanT a==t § BT @ s & giy giaa ud
ATEATH F &1 72 Foareai & fAeawm & form Far srar g 2

(1) FEFH-HETET LT

(2) ATETE-HEI T TEET

(8) A=Ti= 7T

(4) ITATLT Tareqmr

[Question ID = 56][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

12) On the basis of the information given in the statement, which of the following teaching strategy
gives firsi-hand experience to the learner to construct mathematical knowledge ?
Statement : A teacher wants to teach the concept that sum of the angles in a quadrilateral is
360°.
Teaching strategies :
I.  Teacher draws a quadrilateral on blackboard and measures its angles using
protractor and shows that sum of the angles is equal to 360°.
Il. Teacher draws a quadrilateral on a piece of paper and draws its diagonal to
divide it in to two triangles. He uses angle sum property of triangles to show that
sum of the angles of a quadrilateral is 360°.
lll. Teacher asks students to construct various types of quadrilaterals on a piece of
paper and measure their interior angles and find out the sum of the angles in

each type of quadrilateral.
Choose the correct option :
(1) Only |
(2) Only Nl
(3)land Il
(4) Il and 111



FAT T I T THAFET F g 97, FEiotad F F wi-Ar g3 T o

FATERTT ToreTit =1 IO S 7 THHT0T 9 T FeaeT a9 T2 Fiedi g 2

TG : TF (% T ATGTEOT F TR AgAT g 5 TS F FO0 FT A

360° % |

foreror fAfert

| s eqmeTE 9T UF SgUS a9rar @ ST 39E S0 H1 J1ET F1T
ST FTeh ATOAT § A REmar g 7 Foit 1 Trrdher 360° % A=
2|

Il. forer® TS F UF gHhe T2 UH Agas d=d1 g &ie e 301 06
At di=war g arfr Jqds #1 31 Brget § Farfem o aw ag
RSt F F007 T O0EH FT ITART F2 (3a1a1 g o6 TS F Hrot
T AWTHA 360° & |

1. forers @r=it 7 FrT % v ghs 77 ATe ww F T q9s a9 F
T FHI0 T TRT @ & (o Fgar g |

el fAFeT F1 =97 fiST ;

(1) 5= |
(2) = 1l
(3) 1 &Il
(@) Il 3= 1

[Question ID = 57][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q57]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

13) According to National Curriculum Framework, 2005, which of the following is nof true for

including mathematics used in various cultures by street vendors and common people in a
primary grade mathematics curriculum ?

(1) There is no linkage between formal mathematics and the one used by street vendors and
common people.

(2) There are immensely rich mathematical activities performed by common people which can
be included in classroom discussions.

(3) Inclusion of diverse mathematical practices of various cultures can be utilized to make
mathematics learning interesting and relevant.

(4) Children from diverse cultural backgrounds can bring different ways of dealing with
numbers, calculations and counting in classroom discussions.



TS T =AT ®=92aT, 2005 F aqare, AEy et § 7240 Frarer o
AT AW BTET ST T ST ATer 707 &7 GTSHAT FHET % 079 Taa=a1 &
orTierer T3 STTe g fReatortas 3 & F19-A7 97 77 gl e ?

(1) sirg=TiE T ST 724t ATl T4 9| A 5T WA 5 S AT
T H FlE T A2 ¢ |
FACT F=7 | anfaer Fm s awar g
(3) FAfars d==fa=i 9 g T =AEET T 9OTHe FIAr Tior % AT
T =TT 3T ATHRE a9 & oy e ST aFar g |
(4) Bfae T=ogf® & 9 =7 "@@re, e @i 9REaq F {fae= =t &
FATAT AT H ATIHA H7 T 3 |
[Question ID = 58][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q58]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]

3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

14) A commeon error that @ mathematics teacher often encounters when children are asked to add
two fractions is; Adding the numerator with the numerator and denominator with the
denominator. What could be the most probable reason for such error ?

(1) Lack of written practice
(2) Lack of attention in the class
(3) Prior understanding of children related to addition of natural numbers

(4) Non-availability of teaching-learning material

ST A=A AT AT T AT SEA & o FFT S g, T4 U Areer g S A
T T90eTe S 97T, 9 T § 1% == 9T T 9T F A1 A< g¥ AT g€ & a1
STTEd g | UHT 3[{e 7 "aa HA1iaa 07 =47 g1 THaT g ?

(1) Ferfoare s =1 s

(2) F4T F TAHAT HT AT

(3) ITETA AETA F TRT T AT T=A1 40 TT THA
(4) fererr-srfeTe | T dgTersEar

[Question ID = 59][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q59]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]



15) Which of the following assessment techniques will help to reduce the fear and anxiety in
mathematics among learners ?
(8) Project
(b)  Cooperative learning tasks
(c) Paper-pencil test
(d) Summative assessment
Choose the correct option :

Aot § & Aed #r Fa-o1 &S aftrewaret @ avm § 97 67
=T 7 F7 F70 § Fradar H00 ?

(@) TferTeTaT

(b) FEAW ATERTH 1A

(c) TITIfHe &ve

(d) AWMMH ATHAA

gl fAFeT 1 577 ffe

(1) (b) #T (c)

(2) (a) 7 (d)

(3) (b) &= (d)

(4) (a) @7 (b)
[Question ID = 60][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q60]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]

3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- EVS_Q61-75_P1_S1_CTET

1) Which of the following statement of a teacher reflects 'Gender Bias’ ?

(1) *‘Students ! All of you have done well !”
(2) "'Boys ! you always make noise !”
(3) “Boys and girls, lets all play a game.”

(4) “'Students, | am not happy with your performance.”



eaforfaa § & BT sems =1 F-a7 T T @i w1 9599 F2ar g ?

(1) T | g et 7 g e T E 1

(2) “eTEHT | T THAT 97T =7 27 1"

(3) ‘=T ¥ ATHAT, TAT ZH T UF T G |7

(4) "t & geat et & gar i E
[Question ID = 61][Question Description = CTET_P1_PART_3_EVS_SET_124_Q61]
1 [Option ID = 241]
2 [Option ID = 242]

3 [Option ID = 243]
4 [Option ID = 244]

A wN =

2) Which material is used for making solar cell ?
(1) Lead
(2) Sodium
(3) Copper
(4) Silicon

AT Hor % e 3 e =T T 3T T S g 2

e

(2) FfETs
(3) FiaT

(4) Bferst

[Question ID = 62][Question Description = CTET_P1_PART_3_EVS_SET_124_Q62]
1 [Option ID = 245]
2 [Option ID = 246]
. 3 [Option ID = 247]
. 4 [Option ID = 248]

A W N -

3) Which of the following statement reflects '‘Gender stereotyping’ ?

(1) Generally girls are better cooks than boys.
(2) Asians are not good in sports.
(3) Generally girls have less muscle mass compared to boys.

(4) Boys and girls took part in wrestling.

et § & F19-ar waw T =Ragar 71 9397 F7ar g ?

(1) AT T AT TEHT 7 Sga” T a=rai 2 |

(2) Uf9raTs AT T § 9= Ael ard g |

(3) ATHTA: AEH1 il AT H AEHAT F1 T901 5279 FH A1 2 |
(4) et T wetHar o Fodt 7 Fear o |

[Question ID = 63][Question Description = CTET_P1_PART_3_EVS_SET_124_Q63]
1. 1 [Option ID = 249]




2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4) The male bird makes many beautiful woven nests and the female bird chooses, the best one to
lay her eggs. The bird is
(1) Weaver bird
(2) Dove
(3) Tailor bird
(4) Sunbird

T HTEAT aga A1 {3 gATEe a1er Hidel FAa0 g AT A7raT =iedn 298 9 7999
FIEAT ST d97 d¢ 39 F o aar 2 | 98w SfEa e 2

(1) == (gemmer FfEm)
(2) wrEdT

R EERREIER

(4) srFzETT

[Question ID = 64][Question Description = CTET_P1_PART_3_EVS_SET_124_Q64]
1 [Option ID = 253]
2 [Option ID = 254]
. 3 [Option ID = 255]
4 [Option ID = 256]

A W N -

5) Which of the following insects live in a group and have specific role allocation ?

(1) Honeybees, Ants, Spiders

(2) Wasps, Termites, Ants

(3) Ants, Mosquitoes, Spiders

(4) Honeybees, Housefly, Termites

feaforfad § & #19-7 fite 79 § w5d ¢ @ 39 a4 At fAfore gfimd a8 g2
g ?
(1) FgHE=FET, AT, Hhel
(2) T3, T =, Al et
(3) Hifeat, 7=g7, HFal
(4) TEHFET, o T S AT Ty, S
[Question ID = 65][Question Description = CTET_P1_PART_3_EVS_SET_124_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]

3. 3 [Option ID = 259]
4. 4 [Option ID = 260]



6) ldentify the flowers.
A - bloom only at night
B - used for making medicines
C - used for making dyes
D - bloom all the year round
A, B, C and D respectively are

(1
(2
(3
4

Hibiscus, Marigold, Rose, Datura
Night gueen, Hibiscus, Marigold, Rose

Jasmine, Rose, Datura, Chrysanthemum

" o e e

Vinca, Datura, Rose, Chrysanthemum

Tl T T AT |

A - FAA T F T Eaar g

B - Stafer a97+ F FTH § A7 141 g
C - ¥ITE & F1H § @TAT S14T 2

D -9 a4 97 faear g

A B, CHTDFAM: 2

(1) TE=H, =T, TATE, HTT

(2) 7T FT T, TEEA, =T, [T
(3) =FHAT, T[T, AT, TA=TGHST
(4) FRTEETE, S, AT, TATGT

[Question ID = 66][Question Description = CTET_P1_PART_3_EVS_SET_124_Q66]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

7) Which of the following statements is nof correct in the context of honeybees in a beehive ?

(1) Only queen bee lays eggs.
(2) Worker bees are male bees.
(3) There are only few male bees in a hive.

(4) There is anly one queen bee in a hive.

FLHFEAT F g § AYATFIAT % 712 | [Feorad § 7 F9-97 99 951 7gl o
?

(1) FFeT T HFET &F &€ IA1 ¢ |

(2) ATH HFAT (FTH e ATAT) T2 HFET Al 2 |

(3) T F T &Y 77 AiFEaf grdr g |

(4) T H T U & T T g 2 |



[Question ID = 67][Question Description = CTET_P1_PART_3_EVS_SET_124_Q67]
1 [Option ID = 265]
2 [Option ID = 266]
3 [Option ID = 267]
4 [Option ID = 268]

A W N -

8) Which of the following set is of fruits ?
(1) Potato, Brinjal, Mango
(2) Banana, Brinjal, Radish
(3) Tomato, Banana, Ginger
(4) Banana, Ladyfinger (okra), Potato

fefofEa g9 FF-aT aqg T F7 8 ?
(1) &ATeg, AT, AT
(2) F, AT, AT
(3) ZHET, AT, A=TF
(4) 7, T4, Ay
[Question ID = 68][Question Description = CTET_P1_PART_3_EVS_SET_124_Q68]
1 [Option ID = 269]
2 [Option ID = 270]

3 [Option ID = 271]
. 4 [Option ID = 272]

A wWw N =

9) Which of the statements is nof correct regarding stepwells found in many parts of India ?

(1) They are traditional systems of water conservation.
(2) The water in stepwells cannot be used for drinking.
(3) They are based on principle of rainwater harvesting and recharging.

(4) They are used as community resource.

AT & AT el H G M5 A1 % Jae F BI-97 F47 T2 Aghe ?

(1) I STer HTAUT T TTLFTE HAFATZ |

(2) ITATEAT F1 T 9 = o0 U § 71 @0 S HEAr g |
(3) I AT AUZW T T AT F g I% Aremiea g |
(4) TTHT START ATHRTRF HH1EE F 57 F FaramEn g |

[Question ID = 69][Question Description = CTET_P1_PART_3_EVS_SET_124_Q69]
1 [Option ID = 273]
2 [Option ID = 274]
. 3 [Option ID = 275]
4 [Option ID = 276]

A W N -



10) A train travelling from Ahmedabad in Trivandrum crosses many tunnels. These tunnels are in
the hills of

(1) Eastern Ghats
(2) Western Ghats
(3) Himalayas
(4) Aravalli

TE YOSl WEHETaTE & Greww i @7 9 g T G T qeedr g0 T g
Py TRTTET 5 2 2

(1) AT ==
(2) et ==

(3) FRwTer
(4) FTTEAT

[Question ID = 70][Question Description = CTET_P1_PART_3_EVS_SET_124_Q70]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

11) Which of the following statements is true regarding elephants ?

Assertion (A) : An elephant herd has only female elephants and baby elephants.
Reason (R) : Male elephants move around alone.

(1) Both A and R are true and R is the correct explanation for A

(2) Both A and R are true but R is not correct explanation for A
(3) A is correct but R is not correct

(4) Both A and R are not correct

fReAforfad § § F19-97 F99 g F I A qgrg ?

HTHFAT (A) - AT F T | e 7121 g1y e == grefi gra 2 |
T (R) -7 greft I721 AT #het g1 THA & |

(1) A 3T R 491 92T 2 @T R, A it oigr =ATAT g

(2) A 3T R FH1 981 g @t R, A T 981 =47&a1 781 §

(3) ATET € T R ARl 7l &

(4) A ST R =TT AL AR S

[Question ID = 71][Question Description = CTET_P1_PART_3_EVS_SET_124_Q71]
. 1 [Option ID = 281]
2 [Option ID = 282]
3 [Option ID = 283]
4 [Option ID = 284]

A W N -



12) The Haemoglobin level in the blood test reports of four class V children is given below :
Aman - 8 g/dl
Radhika - 10 g/dl
Surjeet - 14 g/dI
Maria - 6 g/dI
Which of these children are anaemic ?
(1) Aman and Maria
(2) Radhika and Surjeet
(3) Aman, Radhika and Surjeet
(4) Aman, Radhika and Maria

= FAT T % A T4 % G 50 A9 OE § 3% grHmaad e 7 are
TATAT AT 2

& - 8 g/d

TTErhT - 10 g/dl

TSI - 14 g/dI

AT - 6 g/dl

T8 | 3 s=a1 § TH-Aoqar (TATHAT) g 2

(1) ST AT FqIAT

(2) =riarERT & st

(3) AH, TITEERT AT ST
(4) =, IR S g

[Question ID = 72][Question Description = CTET_P1_PART_3_EVS_SET_124_Q72]

1. 1 [Option ID = 285]

2. 2 [Option ID = 286]

3. 3 [Option ID = 287]

4. 4 [Option ID = 288]

13) Which of the following statements regarding eyes in birds is/are true ?
S1: All birds have eyes on either side of their head.

S2: Birds cannot focus on two different things at a time.

(1) S1istrue and S2 is false
(2) 81 is false and S2 is true
(3) Both S1 and S2 are true

(4) Both S1 and S2 are false



i it atet & a1 § FafataT § 7 FE-97/9 F99 981 212 ?

S1: = =T F s @2 % <1 97% dtg Zer 2 |

S2: TafEat 31 9=-To= Feq&l 9% 7 2 997 97 312 Fiead 71 77
UTAT 3§ |

()S1HErg AT S2 T a g

(2)S1TTaa g AT S2 72T 8

(3)S1 4% S2 FHT WET 2

(4) S1 &% S2 FHT T &
[Question ID = 73][Question Description = CTET_P1_PART_3_EVS_SET_124_Q73]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]

3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14) Which of the following features of tigers do nef help them move in dark and find the prey 7

(1) Sensitive whiskers

(2) Movement of ears in different directions
(3) Loud roar

(4) Sharp sense of hearing

AT (Z1299) #T FEfEg ¥ 7 #1997 @frean 9= @5y F a6 agq &7
AT T Ared | #2E qgT Al 2§ ?
(1) FA=efrer o=
(2) Afg= fRemst 7 a1 #ir 7f7
(3) ST AT TOAAT
(4) T =T A1 ATATH
[Question ID = 74][Question Description = CTET_P1_PART_3_EVS_SET_124_Q74]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]

3. 3 [Option ID = 295]
4. 4 [Option ID = 296]



15) Match the following correctly :

National Park State in India
A. Jim Corbett i. Assam
B. Kaziranga ii. Uttarakhand
C. Ranthambore iii. Gujarat
D. Gir iv. Rajasthan
(1) A-iii, B-iv, C-i, D-ii
(2)A-ii,B-i, C-iv, D~iii
(3)A-iv,B-ii, C-i, D-iii
(4)A-i,B-iii, C-iv, D~ i
ferferfer =1 agt e e
T g1 T F 5T
A. 5 Fise i o
B. FTHAT ii. ITTEE
C. 7T i, IETeTd
D. fi® iv. TSI

(MA-m,B-iv,C-i,D-i

(2)A-u,B-i,C-iv,D-1i

(3)A-iv, B-1i,C-i1,D-1i

4)A-1,B-iui,C-iv,D-i
[Question ID = 75][Question Description = CTET_P1_PART_3_EVS_SET_124_Q75]
1 [Option ID = 297]
2 [Option ID = 298]

. 3 [Option ID = 299]
4 [Option ID = 300]

A W N -

Topic:- EVS_Q76-90_P1_S1_CTET

1) When an EVS teacher takes his/her students to a zoo, he/she intends to

(1) Sensitize students for animal protection
(2) Give exposure to students to make teaching enjoyable
(3) Correlate classroom learning to real-life situation

(4) Develop skills in students to domesticate animals



SH TATAL FLAAT & (9F AU T=H1 A (ASATIAT AT 0T g, 97 ag e
2T A qfF FIAT AT B ?
(1) F==T T TEAZ F G20 % G GAFaeiter Tar4T
(2) FT=AT FT HASTT TE0H 7 H1@ FT HAH7 377
(3) AT AT Sttaw Hf T eaagT ofiT F4T Femsig % #fi= e geaed ey
FTAT
(4) =T | TSAT AT TR H A9 FT AR AT FTAT
[Question ID = 76][Question Description = CTET_P1_PART_3_EVS_SET_124_Q76]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]

3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

2) Ramesh frequently asks probing questions in his class V EVS class. The appropriate aim is not
at improving students’
(1) Demonstration skills
(2)
(3) Creative skills
(4) Listening skills

Observation skills

T AT FAT V AT TAEE0 TSR 0 FHAT | Frog0l Wed T9aT1 g | SUgF
e A= & e Free & HEre #7198l 2 2

(1) =97 Frora

(2) A=A T

(3) THATHT HI9TT

(4) =T FI9TA
[Question ID = 77][Question Description = CTET_P1_PART_3_EVS_SET_124_Q77]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]

3. 3 [Option ID = 307]
4. 4 [Option ID = 308]



3) In environmental studies, which of the following are characteristics of problem solving ?

A. Construction

B. Selection

C. Declamation

D. Writing

Choose the correct option -

(1)AandB
(2)CandD
(3)AandD
(4)Band D

i FeAae °, freferfed § § FI19-T THeT T 5 0 E 2
A. T

P

T

-

. W
(1)ATB
(2)C D
(3)AFTD
(4)B#* D

[Question ID = 78][Question Description = CTET_P1_PART_3_EVS_SET_124_Q78]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

oo ®

4) Thelanguage that has to be used by an EVS teacher should be

(1) formal with emphasis on definition.
(2) difficult for children to comprehend.
(3) related to everyday language of the child.

(4) technical in nature.

e T AT, TOverE F T T g Are 1 T

(1) ST=T T TEATITA 9 a7 39 ATl Al AT |
(2) F==1 & o {5 gt AT aTie o FH 7 9 |
(3) F=AT H¥ IMF/ATFA AT T H HEAET ZiT AR |
(4) wmrETE wEia &7 Fer SR |

[Question ID = 79][Question Description = CTET_P1_PART_3_EVS_SET_124_Q79]



1 [Option ID = 313]
2 [Option ID = 314]
3 [Option ID = 315]
. 4 [Option ID = 316]

A W N -

5) Use of attractive and relevant instructional materials are helpful because they

(1) Activate all senses.
(2) Make learning more meaningful.
(3) Help teachers in teaching-learning process.

(4) Attract students’ attention.

AT T TR S ITeH AT 6T START T g FI10% o

(1) =T AT A AFT TS |

(2) SATERTH =T AT FATT0T FATT 2 |

(3) forer=nt = fareror-arfasTy afaar § agrgaT F74 2 |
(4) TE=ITPE=T T &4 AR Fd g |

[Question ID = 80][Question Description = CTET_P1_PART_3_EVS_SET_124_Q80]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

6) ldentify the least important activity in teaching of EVS.

(1) Discussion with students

(2) Drawing diagrams and sketches on worksheets
(3) Punishing disobedient students

(4) Taking students outside for nature walk

2 ATTH. F e § Smaw qgeat e 1 ag=w e |

(1) =t & afv==T1

(2) FETHT 97 =T T T H A

(3) FAATFTT FA=TIAT T AT =97

(4) TF=TP=T T AT IHia Hr AT T A AT
[Question ID = 81][Question Description = CTET_P1_PART_3_EVS_SET_124_Q81]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]

3. 3 [Option ID = 323]
4. 4 [Option ID = 324]




7) ldentify the objective behind including riddles in environmental studies.

(1) To confuse students
(2) To develop logical skills in students
(3) To confuse students and derive pleasure from it

(4) To make students play

Feaforfas ¥ &, a0 F99T9 TF § Teierdl # AT FiT © 9297 F
TEATHT |
(1) == & 97 F7 9HT F:Ar
(2) F=Ta=T |/ 9= a\ar =ated Fa7
(3) FA=ITTEAT % |/ T GiHa FTAT T =7 Aiad ZHT
(4) FE=rTfaeTT &7 = e
[Question ID = 82][Question Description = CTET_P1_PART_3_EVS_SET_124_Q82]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]

3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

8) Questioning by students is important in teaching-learning of Environmental Studies because it
reflects
A. students’ curiosity
B. gap in students’ understanding
C. capability of teacher

AandB
BandC

C only

A, BandC

(1
(2
(3
(4

Tot” i S S

TATHTOT ST o forerr-sr iR § Pt g wew qeeT et geear g
FIT T 97 Hhas g

A. et f e F

B. FenfiaiFaur H ea< &

C. forer= Freqar =+

(1) A= B
(2)B& C
(3)Fa« C
(@)A BT C

[Question ID = 83][Question Description = CTET_P1_PART_3_EVS_SET_124_Q83]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]



3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

9) Choose the incorrect statement.

(1) EVS is an interdisciplinary subject.

(2) EVS should be learnt through local resources.

(3) EVS primarily deals with the study of biodiversity.

(4) EVS should be learnt through language and mathematics in class | and Il

TAd AT FHT FAA 0T |

(1) A vm. v s Fwrs o g

(2) £.At.UF. TEAT-UETAT AT HETHAL & WIEAT H gET AR |

(3) =.4T. 07, TEAT: SA-TATHEET F 92939 7 qEr 2 |

(4) FeT | & || F £ 4109, foreror qrar o T F "reas | g AL |
[Question ID = 84][Question Description = CTET_P1_PART_3_EVS_SET_124_Q84]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]

3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

10) In case of below average students in class what would you do as an EVS teacher ?

(1) Make them write concepts many times
(2) Make them sit in the first row and guide them constantly
(3) Identify their weak areas and design remedial measures for them

(4) Give them additional tasks for home for practice

TF TAET HEAAT fOrAF 2 6 AT AT ATAT FHEAT % A\ FIAT (AT AT
FIA?
(1) 32 FT FT AFLTIOT Torge = o 37
(2) 372 THT Ui~k § FBTHT AT AERE F:IAT
(3) T FHATE T T Z2AT UF TATIA & (o1 THTETT @IoTqT TF A FeAT
(4) IT AT 1 92 7 o & for 347
[Question ID = 85][Question Description = CTET_P1_PART_3_EVS_SET_124_Q85]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]

3. 3 [Option ID = 339]
4. 4 [Option ID = 340]




11) The area of environmental studies includes

(1) Formal Education

(2) Non-Formal Education

(3) Formal and Non-Formal Education
(4) School Education

THTAEI FEAI T9reT & 4 § gt ¢

(1) &rq=Tiea forer

(2) FATI=ET forsT

(3) srq=TiE & aw o=t forer
(4) TE=rmerT foraT

[Question ID = 86][Question Description = CTET_P1_PART_3_EVS_SET_124_Q86]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

12) Conceptual understanding in students’ improves when teacher emphasizes upon
(1) Dialogue
(2) Written and oral tests
(3) Textbooks
(4) Competition

[ERH PRI E e LU E O R e ol o e s M L E O R £ L

(1) ¥=T=E 9%
(2) e v= A e o

(3) TTETETR 9T
(4) afeeTgT a7

[Question ID = 87][Question Description = CTET_P1_PART_3_EVS_SET_124_Q87]
1 [Option ID = 345]
2 [Option ID = 346]
3 [Option ID = 347]
4 [Option ID = 348]

A wnN =



13) An anecdotal record should not
A. focus on problems
B. make judgments
C. identify children’s strengths and weaknesses
D. identify children’s interest and curiosity
Choose the correct pair
1) AandB
2)CandD
3)BandC
4)BandD

e e

SUTEATHTeHT ATHAE | 29 F7 7@l g1 AT’ 2

A TEHEITEHA 97 FHiE gar

B. T gEr

C. T=AT Hl qATHA AT FHIAN AT H1 TgATAAT
D. &=a( I &= &< =T i ag=am-n
REUR S L

(1)A#TB

(2)C %7 D

(3)B#TC

(4)B 3D

[Question ID = 88][Question Description = CTET_P1_PART_3_EVS_SET_124_Q88]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

14) In an EVS class, a teacher discusses that houseflies spread diseases. The most appropriate
learning resource for discussion will be
(1) Newspaper
(2) Flashcards
(3)
(4)

4) Posters

Slogans



TF TALTA. AT FAT H, UF 9w == wwar g T 9 v wiEmar et
HATAT 2 | =F=T & [0 qa8 IIgFT A 7 J9199 2

(1) FF=T=
(2) FASTHTSH
(3) FARTT
(4) TTeEE

[Question ID = 89][Question Description = CTET_P1_PART_3_EVS_SET_124_Q89]
1 [Option ID = 353]
2 [Option ID = 354]
. 3 [Option ID = 355]
. 4 [Option ID = 356]

A w N =

15) Sarita teaches the topic '‘Games we play’ by taking students to the playfield and making them
play different games on different days. Meenu teaches the same topic by showing
picture-cards of different games to students.

Who is using a more effective strategy for maximum involvement of students ?
(1) Sarita

(2)
(3) Depends on the situation
(4) Both Sarita and Meenu

Meenu

G G H UTS TG g AAr HEntE AT # @9 6 7S § T Sl g d7 S
F-FT =21 | fAfa= @ et 2 | /19 3967 915 F deT-AeT @ai
~r-wTe = TRmTEe et #ir gt 2

TA=ITT T 1 ATAFaH AT F2d | H17 SYTET TITAT 0 T FTAN FT T80
g7

(1) =T

(2) ¥
(3) wivfEgfa @ AT Fvar g
(4) 3=t "fEr 3w fig

[Question ID = 90][Question Description = CTET_P1_PART_3_EVS_SET_124_Q90]
1 [Option ID = 357]
2 [Option ID = 358]
. 3 [Option ID = 359]
. 4 [Option ID = 360]

A W N -

Topic:- HIN_Q91-99_L1_P1_S1_CTET



") fRder : Aefafaa T 71 92FT 15 a0 T4 F ag/aas gy g9} a5
fameT Fr AT |
THI ST |1 § A7 SUATATHA & FTFT AHT I 7g g o 99 FAaar a=r
T2 T | AHEA | FAT STeAFAIEE FT AT A7 98 of Tef @ AFF &f 479 d9F
Tt I ot |9 o ATAT AT T & TIaer i TATET F2 Tl 8 | JE
A1 9% 3@ A1 A3 T FHE F Thel & Didol ATAT TAdl dahei o1 AT Fel 10
AT Fy w9 & Torw qrorarg F Hor 91 U araraeor § =iw i 59 g a9d q
T BT TFal ¢ | 99 (e TE-a81 STRMatal % de-970 It ge aeqat =7,
FZ % TgA ATAT &1 FAT 1A T 2 AT gAY 9 raem foraar g5fuq, e
T YTOTerdT AT ST Tg1 g qAfe 3% Feon 97 @=w &7 a1 &7
dreiere T Fa Y gt 7gi T 19 T 3 AroiEsn-ai e 1 3
TIOTTH HTAT ST J5hT g |

ST a1 1 ST a7 7 9HF F10 5

(1) F FETAT H e qTer AL /757
(2) T=ITT F Terere are g4t

(3) TERTT & THehere ATAT ATt

(4) ST & P =1 T

[Question ID = 91][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q91]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]
3. 3 [Option ID = 363]
4. 4 [Option ID = 364]




2) fader : FafofaT Ters #1 92 95 T7 T4 F ag/aad gg 997 I
fameT Fr AT |
THI ST |1 § A7 SUATATHA & FTFT AHT I 7g g o 99 FAaar a=r
T2 T | AHEA | FAT STeAFAIEE FT AT A7 98 of Tef @ AFF &f 479 d9F
Tt I ot |9 o ATAT AT T & TIaer i TATET F2 Tl 8 | JE
A1 9% 3@ A1 A3 T FHE F Thel & Didol ATAT TAdl dahei o1 AT Fel 10
AT Fy w9 & Torw qrorarg F Hor 91 U araraeor § =iw i 59 g a9d q
T BT TFal ¢ | 99 (e TE-a81 STRMatal % de-970 It ge aeqat =7,
FZ % TgA ATAT &1 FAT 1A T 2 AT gAY 9 raem foraar g5fuq, e
T YTOTerdT AT ST Tg1 g qAfe 3% Feon 97 @=w &7 a1 &7
dreiere T Fa Y gt 7gi T 19 T 3 AroiEsn-ai e 1 3
TIOTTH HTAT ST J5hT g |

AT | ATFHTSTT il HTAT BT TATAT 2o ATl THE FIH ¢

(1) FF FEA-STEAFATZS
(2) FAT FEA-HAFATEE
(3) FTEA-STEAFATEE T AT Ta0TeAt 39

(4) FaeT AT AT

[Question ID = 92][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q92]
1. 1 [Option ID = 365]
2. 2 [Option ID = 366]
3. 3 [Option ID = 367]
4. 4 [Option ID = 368]



3) e : FafofaT Ters &1 w2 95 T7 7497 F ag/aad g 997 I
AT #T FiA7 |
THI ST |1 § A7 SUATATHA & FTFT AHT I 7g g o 99 FAaar a=r
T2 T | AHEA | FAT STeAFAIEE FT AT A7 98 of Tef @ AFF &f 479 d9F
Tt I ot |9 o ATAT AT T & TIaer i TATET F2 Tl 8 | JE
A1 9% 3@ A1 A3 T FHE F Thel & Didol ATAT TAdl dahei o1 AT Fel 10
AT Fy w9 & Torw qrorarg F Hor 91 U araraeor § =iw i 59 g a9d q
T BT TFal ¢ | 99 (e TE-a81 STRMatal % de-970 It ge aeqat =7,
FZ % TgA ATAT &1 FAT 1A T 2 AT gAY 9 raem foraar g5fuq, e
T YTOTerdT AT ST Tg1 g qAfe 3% Feon 97 @=w &7 a1 &7
dreiere T Fa Y gt 7gi T 19 T 3 AroiEsn-ai e 1 3
TIOTTH HTAT ST J5hT g |
FTAT-STTAFATEE & AT-HTT AT TATAT 30 AT FIT A ATAT AT ST 9
Fiaerd Tt THIAT F2 TF1 € | AT 7 M9F g — Flad ST Fa15e 9471 d79
et

(1) AT H AFHTST I & qiaerd H7 FT8T 72l 2 |
(2) AT F A= 9 % Tiderd 1 =27 T30 3 |
(3) ATFATSI i =7 ITA9a 9ol SAET 2 TgAar g |
(4) ATFETSTA 9 6 AT 9T iz TATF A1 STed] |

[Question ID = 93][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q93]
1. 1 [Option ID = 369]
2. 2 [Option ID = 370]
3. 3 [Option ID = 371]
4. 4 [Option ID = 372]




Y fRder : Fefofera = #7 vz 05 77 T4 % ag/aas guge 97 I
fameT Fr AT |
THI ST |1 § A7 SUATATHA & FTFT AHT I 7g g o 99 FAaar a=r
T2 T | AHEA | FAT STeAFAIEE FT AT A7 98 of Tef @ AFF &f 479 d9F
Tt I ot |9 o ATAT AT T & TIaer i TATET F2 Tl 8 | JE
A1 9% 3@ A1 A3 T FHE F Thel & Didol ATAT TAdl dahei o1 AT Fel 10
AT Fy w9 & Torw qrorarg F Hor 91 U araraeor § =iw i 59 g a9d q
T BT TFal ¢ | 99 (e TE-a81 STRMatal % de-970 It ge aeqat =7,
FZ % TgA ATAT &1 FAT 1A T 2 AT gAY 9 raem foraar g5fuq, e
T YTOTerdT AT ST Tg1 g qAfe 3% Feon 97 @=w &7 a1 &7
dreiere T Fa Y gt 7gi T 19 T 3 AroiEsn-ai e 1 3
TIOTTH HTAT ST J5hT g |
TATAI I AR TATE ST ATAT FHI0F TTd: §

(1) T2
(2) ST T 9= § Awa<d gig T4 Aot goremr

(3) TTHTIT TETEATT
(4) FEAT FAHEET

[Question ID = 94][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q94]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]
3. 3 [Option ID = 375]
4. 4 [Option ID = 376]



5) fader : AafofaT Ters #1 92 75 T7 T4 F ag/aad gg 997 I
fameT Fr AT |
THI ST |1 § A7 SUATATHA & FTFT AHT I 7g g o 99 FAaar a=r
T2 T | AHEA | FAT STeAFAIEE FT AT A7 98 of Tef @ AFF &f 479 d9F
Tt I ot |9 o ATAT AT T & TIaer i TATET F2 Tl 8 | JE
A1 9% 3@ A1 A3 T FHE F Thel & Didol ATAT TAdl dahei o1 AT Fel 10
AT Fy w9 & Torw qrorarg F Hor 91 U araraeor § =iw i 59 g a9d q
T BT TFal ¢ | 99 (e TE-a81 STRMatal % de-970 It ge aeqat =7,
FZ % TgA ATAT &1 FAT 1A T 2 AT gAY 9 raem foraar g5fuq, e
T YTOTerdT AT ST Tg1 g qAfe 3% Feon 97 @=w &7 a1 &7
dreiere T Fa Y gt 7gi T 19 T 3 AroiEsn-ai e 1 3
TIOTTH HTAT ST J5hT g |

T aST-TET FACTATATA % AH-ITH FHT g ATeadl FT, qgf % Tg aradl &l
FT A ERI 2' & ATe90 & — TE-a8 FILAMEL F ATH-I79 Fif Freaqi |

(1) FHTT 9% FEMUT THTA0 T 2T TEE T2AT

(2) FATE gfFeTd ITesy 7 g
(3) =ATEST g SUAsy 7
(4) TTH-THTE HT AT ZIAT

[Question ID = 95][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q95]
1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3. 3 [Option ID = 379]
4. 4 [Option ID = 380]




o) fader : AafofaT Tere #1 w2F 05 T7 T41 F ag/aad gg 997 I
fameT Fr AT |
THI ST |1 § A7 SUATATHA & FTFT AHT I 7g g o 99 FAaar a=r
T2 T | AHEA | FAT STeAFAIEE FT AT A7 98 of Tef @ AFF &f 479 d9F
Tt I ot |9 o ATAT AT T & TIaer i TATET F2 Tl 8 | JE
A1 9% 3@ A1 A3 T FHE F Thel & Didol ATAT TAdl dahei o1 AT Fel 10
AT Fy w9 & Torw qrorarg F Hor 91 U araraeor § =iw i 59 g a9d q
T BT TFal ¢ | 99 (e TE-a81 STRMatal % de-970 It ge aeqat =7,
FZ % TgA ATAT &1 FAT 1A T 2 AT gAY 9 raem foraar g5fuq, e
T YTOTerdT AT ST Tg1 g qAfe 3% Feon 97 @=w &7 a1 &7
dreiere T Fa Y gt 7gi T 19 T 3 AroiEsn-ai e 1 3
TIOTTH HTAT ST J5hT g |
‘It % FHA 6 forw g 7 e 9 =i i e g 99T H oy g Awar g
T | @i % F T 97 TIF 57 99 g

(1) 711

(2) sfreer 31g

(3) @fFefrerT

(4) FTEAT-TTZAFATEE

[Question ID = 96][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q96]
1. 1 [Option ID = 381]
2. 2 [Option ID = 382]
3. 3 [Option ID = 383]
4. 4 [Option ID = 384]



7[R ; FEfafas = #7 1gaT 75 T7 T4 % ag/aad g9 g9} At
fameT Fr AT |
THI ST |1 § A7 SUATATHA & FTFT AHT I 7g g o 99 FAaar a=r
T2 T | AHEA | FAT STeAFAIEE FT AT A7 98 of Tef @ AFF &f 479 d9F
Tt I ot |9 o ATAT AT T & TIaer i TATET F2 Tl 8 | JE
A1 9% 3@ A1 A3 T FHE F Thel & Didol ATAT TAdl dahei o1 AT Fel 10
AT Fy w9 & Torw qrorarg F Hor 91 U araraeor § =iw i 59 g a9d q
T BT TFal ¢ | 99 (e TE-a81 STRMatal % de-970 It ge aeqat =7,
FZ % TgA ATAT &1 FAT 1A T 2 AT gAY 9 raem foraar g5fuq, e
T YTOTerdT AT ST Tg1 g qAfe 3% Feon 97 @=w &7 a1 &7
dreiere T Fa Y gt 7gi T 19 T 3 AroiEsn-ai e 1 3
TIOTTH HTAT ST J5hT g |
(1) o1 + F70T
(2) Tft + =7

(3) T + ST

(4) T + AT

[Question ID = 97][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q97]
1. 1 [Option ID = 385]
2. 2 [Option ID = 386]
3. 3 [Option ID = 387]
4. 4 [Option ID = 388]



8 fRder ; MafofeT T=mer #7 277 75 T7 T4 ¥ ag/aas 9 397 I
fameT Fr AT |
THI ST |1 § A7 SUATATHA & FTFT AHT I 7g g o 99 FAaar a=r
T2 T | AHEA | FAT STeAFAIEE FT AT A7 98 of Tef @ AFF &f 479 d9F
Tt I ot |9 o ATAT AT T & TIaer i TATET F2 Tl 8 | JE
A1 9% 3@ A1 A3 T FHE F Thel & Didol ATAT TAdl dahei o1 AT Fel 10
AT Fy w9 & Torw qrorarg F Hor 91 U araraeor § =iw i 59 g a9d q
T BT TFal ¢ | 99 (e TE-a81 STRMatal % de-970 It ge aeqat =7,
FZ % TgA ATAT &1 FAT 1A T 2 AT gAY 9 raem foraar g5fuq, e
T YTOTerdT AT ST Tg1 g qAfe 3% Feon 97 @=w &7 a1 &7
dreiere T Fa Y gt 7gi T 19 T 3 AroiEsn-ai e 1 3
TIOTTH HTAT ST J5hT g |

‘THE IRTH H Yt 9% @O g, THY "1 905% A0

(1) 3HT
(2) 3=
(3) TN

(4) =TT

[Question ID = 98][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q98]
1. 1 [Option ID = 389]
2. 2 [Option ID = 390]
3. 3 [Option ID = 391]
4. 4 [Option ID = 392]



O fAder ; [RwfafaT e #1 9% 76 T g7 & agi/aad g9 Iu7 I
fameT Fr JAT |
THI &S SId1 § ArH SUATATA F FTFT AHT I 7g g o1 99 [Aaar a7
T2 T | ATGHEA | FET STSAFATEE FT 10 97 98 of Tef ¢ AvF gf 979 a9F
Tt I ot |9 o AT AT T IIa e i TATET FL Tl g | "
1% 9% 3@ A1 A3 U FHE F Thel & iAol ATAT TAdl dahe 51 AT Fel S0
AT ¥y w9T & Torw qrorarg F Hor 91 U araraeor § =iw i 59 g a9d q
T 21 TFal ¢ | 99 (e TE-T81 SSRTaAtal % d-979 g9t ge aeqat =7,
AZ % TgA ATAT &1 FAT A T 2 AT AT 9 raem foraar g5fuq, Faraes
T YTTeAdT BT ST Tg1 g qAf2 3% Feon 97 @=9w &7 a1 455
dreiere T T gt 7gi T 9 T 3 AroiEsn- i 1 s
IR HTET ST J54T g |

T ¥ o= st g

(1) FET-T T
(2) ST

(3) TTT-ATT

(4) TTE-ITH

[Question ID = 99][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q99]
1. 1 [Option ID = 393]
2. 2 [Option ID = 394]
3. 3 [Option ID = 395]
4. 4 [Option ID = 396]

Topic:- HIN_Q100-105_L1_P1_S1_CTET



") fREer ; [FEfafad FEar #F BFT 75 T7 T4 % AgHaaT F9g I97 a7
fameT Fr AT |
ST STAT A I8 A ih-AT0 7 977 |
IS F T, HAfd 41 g9 M4,
H A1 Z1aT T3 Io17 9ffer =214 |
g oTf=F Fgt 21| T T, 01 g AT A 2l ?
T AT | e gt ofver ST T der !
TR FiFar & {5 Fartae Fray @ g 2

(1) HTET T
(2) &7t &
(3) AT
CYREEEIED]

[Question ID = 100][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q100]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

2) fader ; [Refafad #faar #9297 75 70 T4 # Gg/aa9 39gw Ia< a7
e @it AT |
BT STAT A/ H{IE Hih-ATH1 T 977 |
q T TR, A q9T g A,
HE AT 2T T2 I5THT ofver F2T |
g orf<k Fgt 2T | FAT T, F01 gHHT AT T 2l ?
T AL | ot =1 99T FHT T AgT |
F H FT AT FTZEE ?

(1) ST Tty F for 9= 7 a9 w7
(2) AT=T AT T 9T FAT A AqE
(3) w7 2 T A
(4) ATHT ATTEH T TH 7 o F

[Question ID = 101][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q101]
1. 1 [Option ID = 401]
2. 2 [Option ID = 402]

3. 3 [Option ID = 403]
4. 4 [Option ID = 404]



3 fAder ; FeEfafas #EaT # 989 75 707 T47 & ag/Aa9 399 397 a7
e it FfAT |
ST STAT A I8 A ih-AT0 7 977 |
IS F T, HAfd 41 g9 M4,
H A1 Z1aT T3 Io17 9ffer =214 |
g oTf=F Fgt 21| T T, 01 g AT A 2l ?
T AT | e gt ofver ST T der !
Ftaar 7 o feorfy &t e @9 ST g ?

(1) wi=s ¥ griv
(2) e T #r
(3) TH=aT

(4) TAAAT A

[Question ID = 102][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q102]
1. 1 [Option ID = 405]
2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]

4 fader ; fAefofaa FEar #7 1857 g 70 91 % Ggi/aad 74 < a7
e @it AT |
21 ST §+ {3 qih-ATa0 FT Y77 |
q T TR, A q9T g A,
H A1 Z1aT qo1 317 offer 214 |
g orf<k Fgt 2T | FAT T, F01 gHHT AT T 2l ?
H AT | F=er 9= ofver o1 756 2T |
et e ofTer T T e ! Ut | e Aasmr #ranie £ 7
(1) SAFT AT TAT F7A T
(2) AUSAT HT [ATHT FTA FT
(3) U HT HTL-AITA T
(4) AT FT 437 F9 F

[Question ID = 103][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q103]

1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]



5) fader ; REfafag #EaT #1 9gF 95 70 T47 & ag/Aa9 397w 397 a7
e it FfAT |
ST STAT A I8 A ih-AT0 7 977 |
IS F T, HAfd 41 g9 M4,
H A1 Z1aT T3 Io17 9ffer =214 |
g oTf=F Fgt 21| T T, 01 g AT A 2l ?
T AT | e gt ofver ST T der !
AT F e 0 &7 Soerg AT T g 2

(1) TS, ITHIL FT ATAT
(2) TUHTT FTA ATAT, AT T
(3) Tr=refier, erf=Remmett

(4) TR, THAT

[Question ID = 104][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q104]
1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3. 3 [Option ID = 415]
4. 4 [Option ID = 416]

6 fader ; [Refafad #faar #1 9297 75 70 T4 # Gg/Fa9 39gw Ia< a7
e @it AT |
BT STAT A/ H{IE Hih-ATH1 T 977 |
q T TR, A q9T g A,
HE AT 2T T2 I5THT ofver F2T |
g orf<k Fgt 2T | FAT T, F01 gHHT AT T 2l ?
T AL | ot =1 99T FHT T AgT |
‘T T FHATT 9758 g

(1) sxfzetT
(2) FEmrerm
(3) AT

(4) 7T

[Question ID = 105][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q105]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]
3. 3 [Option ID = 419]
4. 4 [Option ID = 420]



Topic:- HIN_Q106-120_L1_P1_S1_CTET

" T ATAT FAT § I T e AR 7 ore HOaT AT FA F
forT Ta=m==i & =2 7 G197 I7 {220 G197 7 TI0 F2a4l g, 915 H g Irg I
HAATE F2d H 7S Fal g | AT A9 A=nfaai =1 st diaa § B &g w5
(1) H7=aTH f=fe
(2) FFEITOITeR S ATET fore
(3) AT ATATE =T
(4) Terer =

[Question ID = 106][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q106]

1. 1 [Option ID = 421]

2. 2 [Option ID = 422]

3. 3 [Option ID = 423]
4. 4 [Option ID = 424]

2) FH % AT ST A0 R S 2 AT % 9 8 S S g ?

(1) &< % H=T 6T ATIT
(2) FEAT-F=T HT 9T
(3) ATHT FATTLATAT

(4) FTHATATE ATHA Fe Ff 9197

[Question ID = 107][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q107]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]

3) T SETEHAT 29 a19 il 927 2 T

(e =T gm e |
(2) FTaT #T gAlT FT IgAWT S THaT g, TIE FHAT A1 "wwwar g, i aqgee
FTAT ST HFAT B |
(3) GTHT T LA TRHT FT AT F37 T ATFHIIFAT 2 |
(4) |TaT ¥ AT TEATHT Tl ST Al AT T 30 BT A7 FreA’r S qhel
2 |
[Question ID = 108][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q108]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]

3. 3 [Option ID = 431]
4. 4 [Option ID = 432]




4) T gua T 1 aE, 75T G e 6 e Al F qOE-I0F L 0gAy
& o A% 7§ | T A9 | Ag T 0 ge] A1 A9H A e ?

(1) EAATeHF STRTFAT

(2) STpTATeT ST

(3) H=re= STe=aT

(4) FATHTI TEFAT
[Question ID = 109][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q109]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]

3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

5 HHFET A0 AT F O 751 % 7ag " 7 Ay @l g9Ar FTT0 w4 Al g
| SYTTHFAT TAF (A=AT9q1 T 67 T4g 7 735 F4(1 ?
M EEr R FIn s = e, a9 §
(2) ITET-ATRAT FT Sga7 T4 T AHA 6 (A0 IHHT (=5 F7 H
(3) ITEI-ATHIT 7 Gt fhew FT SgAR TR H AT A
(4) T TBT FEAT AT H A=GT A%g °F ASAT I A
[Question ID = 110][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q110]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]

3. 3 [Option ID = 439]
4. 4 [Option ID = 440]

6) ‘fafora wow Fenfdat =1 37 w2a et & FBFmw & qreaw § wea AT 1w
(1) FeFre 70 &7 o Moo § Aeg Fedt &
(2) fehTe F7 dI¥ Teag F9 § 73T T3
(3) FoFire Fer 4T ATH1T FoawT Fied | H3% F7al g
(4) FeFTe T2 & 937 7 § 935 Tl &
[Question ID = 111][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q111]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]

3. 3 [Option ID = 443]
4. 4 [Option ID = 444]




7)o PRt i wgml AT F TS T S WS 3497 2 | 3y et |
FEal g 1% Zrg Hall & HH J ST F7l | TIAT IAF (208 B9 T ATHAT H7
" E ?

(1) 73
(2) A=
(3)am=w

(4) ATHTT FETAT FIAT

[Question ID = 112][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q112]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]

8) HTEAT TEAT WAT F FH(S5ATE =0 %l G0 T2l g | TF T & F(1577 =7 7] Tod
90 2 | ATLHAT FT ZH T4 FT FAT F7AT AT210 2

(1) 29 T7 T TEAT TF T § TFA71 A1

(2) THF T I TLAT TF T § Agl 71 AT’

(3) T W ATHTAA: TLIAT & T 57 2

(4) T TF THAT F o0 UF =1 99 2
[Question ID = 113][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q113]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]

3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

%) FIAIHET AradTiohs TET F 19 (BICS) FT =& s gy 47 1% 2

(1) FETFT w9
(2) @ AT
(3) =T.0 FFee
(4) &= Fafae

[Question ID = 114][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q114]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]



10) FrEstie sraer fA=nfet T ararierh Hlere T TS 9T HaEeT =g g |
(1) gmHT
(2) &
(3) Trer =T
(4)aE-FAaT=
[Question ID = 115][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q115]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]

3. 3 [Option ID = 459]
4. 4 [Option ID = 460]

") qTaT FTERT | /I A FATE I (Fg=a00) 2 | T 99

()TE

(2) AT =7 T HET

(3) T &

(4) TATEF = 7 AT AR S
[Question ID = 116][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q116]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]

3. 3 [Option ID = 463]
4. 4 [Option ID = 464]

12) fFeforfaa § | FRATEr deaadies aEg 9o (BICS) #T @STeHS
gFTEaE 9T AquET (CALP) & a1¢ H =471 951 & ?
(1)CALP, BICS F Rrm gavr == &
(2)CALP, BICS & faer 2
(3) CALP, BICS & meafeera 721 2
(4) CALP, BICS #1 A= 2
[Question ID = 117][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q117]
Qe

3. 3 [Option ID = 467]
4. 4 [Option ID = 468]



13) FAFT ATT FT A AT, Hiiaw [Ea A arafimar T 3w o o= T ar=T

ATEH & H G AT (==t B T % A8 1 A8 3 2

(1) 39TTcHF

(2) 7=1

(3) TATHF

(4) FaTiF
[Question ID = 118][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q118]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]

3. 3 [Option ID = 471]
4. 4 [Option ID = 472]

14) fReferfad 5 -1 orsg 7597 i A1 ?
a. e (srs3-Faerm)
b. SR FTAT
c. AT
d. TereTeT ()
()a, bdTc
(2)b, d #Tc
(3)a, c #drTd
(4)a, b, c#Td

[Question ID = 119][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q119]
1. 1 [Option ID = 473]
2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

15) g T AremT 9T FET §rar g % HeArTs = gt 9% 69T 27 7 TEAT g’
s forenfoiart =1 STgf 7% 997 21, 9T AT (qred) F afes T AfEF q@a7 37
H1RT ?

(1) FSTEETH AT (T F19T)
(2) FHYT A= wiawar
(3) =1 i

(4) FTERT AT

[Question ID = 120][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_HINDI_Q120]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

Topic:- ENG_Q121-128_L2_P1_S1_CTET



1) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. The city of Aurangabad was named after the infamous Mughal emperor, Aurangzeb, and no
visit to the city is complete without a visit to his tomb. Devoid of any architectural extravagance,
the tomb reflects the austerity that characterized Aurangzeb and his reign.

2. Among the several historical monuments that Aurangabad boasts of, is the Daulatabad fort
located 16 kilometers northwest of Aurangabad in Daulatabad, also known as Deogiri.
Muhammad-bin-Tuglaq had shifted his capital here, which was later relocated to Delhi.

3. The fort is bare and reflects the barrenness of the land around it. The importance of the fort
lay in its extraordinary strength, the ingenious way it was built to fight off enemies and the
mechanisms used to defend it. History testifies that this fort was never captured in battle, such
was its brilliance. The view from the top of the fort offers tourists a sweeping view of the
surrounding land: rough, barren and rocky. At the summit there is also a specimen of a
massive metal canon, one of the few remaining metal canons of its type.

4. A tour of the fort can be quite an exhausting experience even in early February, with the sun
beating down through the arid atmosphere. A drink of nariyal pani or tender coconut water is
refreshing and a must !

5. After lunch, we proceeded to Bibi ka Magbara. Built by Mughal Prince Azam Shah in loving
memory of his mother, Begum Rabia Durani, wife of Aurangzeb, this monument was intended
to be a replica of the Taj Mahal.

6. Unfortunately, the monument is but a poor replica of the Taj Mahal, lacking the architectural
brilliance, and dazzling beauty of the unparalleled Taj. The mesmerizing craftsmanship that
marked the architectural monuments of Akbar and Shah Jahan was pitifully lost in the later
years of the Mughal reign. Bibi ka Magbara is an eloquent example. Nevertheless, the
monument is worth a visit, if only to understand this transition in Mughal architecture.

The tomb of Aurangzeb is a reflection of his personality as

(1) it is filled with exquisite sculptures and paintings.
(2) it is barren and rocky.
(3) it is simple and stark without any ornamentation.

(4) it is full of mementoes from his life.

[Question ID = 151][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q121]

1. 1 [Option ID = 601]
2. 2 [Option ID = 602]
3.

4. 4 [Option ID = 604]

3 [Option ID = 603]



2) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. The city of Aurangabad was named after the infamous Mughal emperor, Aurangzeb, and no
visit to the city is complete without a visit to his tomb. Devoid of any architectural extravagance,
the tomb reflects the austerity that characterized Aurangzeb and his reign.

2. Among the several historical monuments that Aurangabad boasts of, is the Daulatabad fort
located 16 kilometers northwest of Aurangabad in Daulatabad, also known as Deogiri.
Muhammad-bin-Tuglaq had shifted his capital here, which was later relocated to Delhi.

3. The fort is bare and reflects the barrenness of the land around it. The importance of the fort
lay in its extraordinary strength, the ingenious way it was built to fight off enemies and the
mechanisms used to defend it. History testifies that this fort was never captured in battle, such
was its brilliance. The view from the top of the fort offers tourists a sweeping view of the
surrounding land: rough, barren and rocky. At the summit there is also a specimen of a
massive metal canon, one of the few remaining metal canons of its type.

4. A tour of the fort can be quite an exhausting experience even in early February, with the sun
beating down through the arid atmosphere. A drink of nariyal pani or tender coconut water is
refreshing and a must !

5. After lunch, we proceeded to Bibi ka Magbara. Built by Mughal Prince Azam Shah in loving
memory of his mother, Begum Rabia Durani, wife of Aurangzeb, this monument was intended
to be a replica of the Taj Mahal.

6. Unfortunately, the monument is but a poor replica of the Taj Mahal, lacking the architectural
brilliance, and dazzling beauty of the unparalleled Taj. The mesmerizing craftsmanship that
marked the architectural monuments of Akbar and Shah Jahan was pitifully lost in the later
years of the Mughal reign. Bibi ka Magbara is an eloquent example. Nevertheless, the
monument is worth a visit, if only to understand this transition in Mughal architecture.

The Daulatabad Fort is Famous because

(1) of its massive cannon.
(2) it was never captured in a battle.
(3) of its beautiful scenery.

(4) it is close to Aurangabad and Ajanta and Ellora caves.

[Question ID = 152][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q122]

1. 1 [Option ID = 605]
2. 2 [Option ID = 606]
3.

4. 4 [Option ID = 608]

3 [Option ID = 607]



3) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. The city of Aurangabad was named after the infamous Mughal emperor, Aurangzeb, and no
visit to the city is complete without a visit to his tomb. Devoid of any architectural extravagance,
the tomb reflects the austerity that characterized Aurangzeb and his reign.

2. Among the several historical monuments that Aurangabad boasts of, is the Daulatabad fort
located 16 kilometers northwest of Aurangabad in Daulatabad, also known as Deogiri.
Muhammad-bin-Tuglaq had shifted his capital here, which was later relocated to Delhi.

3. The fort is bare and reflects the barrenness of the land around it. The importance of the fort
lay in its extraordinary strength, the ingenious way it was built to fight off enemies and the
mechanisms used to defend it. History testifies that this fort was never captured in battle, such
was its brilliance. The view from the top of the fort offers tourists a sweeping view of the
surrounding land: rough, barren and rocky. At the summit there is also a specimen of a
massive metal canon, one of the few remaining metal canons of its type.

4. A tour of the fort can be quite an exhausting experience even in early February, with the sun
beating down through the arid atmosphere. A drink of nariyal pani or tender coconut water is
refreshing and a must !

5. After lunch, we proceeded to Bibi ka Magbara. Built by Mughal Prince Azam Shah in loving
memory of his mother, Begum Rabia Durani, wife of Aurangzeb, this monument was intended
to be a replica of the Taj Mahal.

6. Unfortunately, the monument is but a poor replica of the Taj Mahal, lacking the architectural
brilliance, and dazzling beauty of the unparalleled Taj. The mesmerizing craftsmanship that
marked the architectural monuments of Akbar and Shah Jahan was pitifully lost in the later
years of the Mughal reign. Bibi ka Magbara is an eloquent example. Nevertheless, the
monument is worth a visit, if only to understand this transition in Mughal architecture.

The architecture of the Bibi ka Magbara has been based on
(1) the Daulatabad Fort.
(2) Aurangzeb's tomb.

(3) the historical monuments of Aurangabad.

(4) the Taj Mahal.

[Question ID = 153][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q123]

1. 1 [Option ID = 609]
2. 2 [Option ID = 610]
3.

4. 4 [Option ID = 612]

3 [Option ID = 611]



4) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. The city of Aurangabad was named after the infamous Mughal emperor, Aurangzeb, and no
visit to the city is complete without a visit to his tomb. Devoid of any architectural extravagance,
the tomb reflects the austerity that characterized Aurangzeb and his reign.

2. Among the several historical monuments that Aurangabad boasts of, is the Daulatabad fort
located 16 kilometers northwest of Aurangabad in Daulatabad, also known as Deogiri.
Muhammad-bin-Tuglaq had shifted his capital here, which was later relocated to Delhi.

3. The fort is bare and reflects the barrenness of the land around it. The importance of the fort
lay in its extraordinary strength, the ingenious way it was built to fight off enemies and the
mechanisms used to defend it. History testifies that this fort was never captured in battle, such
was its brilliance. The view from the top of the fort offers tourists a sweeping view of the
surrounding land: rough, barren and rocky. At the summit there is also a specimen of a
massive metal canon, one of the few remaining metal canons of its type.

4. A tour of the fort can be quite an exhausting experience even in early February, with the sun
beating down through the arid atmosphere. A drink of nariyal pani or tender coconut water is
refreshing and a must !

5. After lunch, we proceeded to Bibi ka Magbara. Built by Mughal Prince Azam Shah in loving
memory of his mother, Begum Rabia Durani, wife of Aurangzeb, this monument was intended
to be a replica of the Taj Mahal.

6. Unfortunately, the monument is but a poor replica of the Taj Mahal, lacking the architectural
brilliance, and dazzling beauty of the unparalleled Taj. The mesmerizing craftsmanship that
marked the architectural monuments of Akbar and Shah Jahan was pitifully lost in the later
years of the Mughal reign. Bibi ka Magbara is an eloquent example. Nevertheless, the
monument is worth a visit, if only to understand this transition in Mughal architecture.

Prince Azam Shah was the son of
(1) Akbar
(2) Shah Jahan

(3) Muhammad bin Tuglaqg
(4) Aurangzeb

[Question ID = 154][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q124]

1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3.

4. 4 [Option ID = 616]

3 [Option ID = 615]



5) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. The city of Aurangabad was named after the infamous Mughal emperor, Aurangzeb, and no
visit to the city is complete without a visit to his tomb. Devoid of any architectural extravagance,
the tomb reflects the austerity that characterized Aurangzeb and his reign.

2. Among the several historical monuments that Aurangabad boasts of, is the Daulatabad fort
located 16 kilometers northwest of Aurangabad in Daulatabad, also known as Deogiri.
Muhammad-bin-Tuglaq had shifted his capital here, which was later relocated to Delhi.

3. The fort is bare and reflects the barrenness of the land around it. The importance of the fort
lay in its extraordinary strength, the ingenious way it was built to fight off enemies and the
mechanisms used to defend it. History testifies that this fort was never captured in battle, such
was its brilliance. The view from the top of the fort offers tourists a sweeping view of the
surrounding land: rough, barren and rocky. At the summit there is also a specimen of a
massive metal canon, one of the few remaining metal canons of its type.

4. A tour of the fort can be quite an exhausting experience even in early February, with the sun
beating down through the arid atmosphere. A drink of nariyal pani or tender coconut water is
refreshing and a must !

5. After lunch, we proceeded to Bibi ka Magbara. Built by Mughal Prince Azam Shah in loving
memory of his mother, Begum Rabia Durani, wife of Aurangzeb, this monument was intended
to be a replica of the Taj Mahal.

6. Unfortunately, the monument is but a poor replica of the Taj Mahal, lacking the architectural
brilliance, and dazzling beauty of the unparalleled Taj. The mesmerizing craftsmanship that
marked the architectural monuments of Akbar and Shah Jahan was pitifully lost in the later
years of the Mughal reign. Bibi ka Magbara is an eloquent example. Nevertheless, the
monument is worth a visit, if only to understand this transition in Mughal architecture.

The writer advocates a visit to the Bibi ka Magbara to

(1) study its exquisite craftsmanship.
(2) study its close resemblance to the Taj Mahal.
(3) study the changes in Mughal architecture towards the end of its reign.

(4) study the Western influence on its architecture.

[Question ID = 155][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q125]

1. 1 [Option ID = 617]
2. 2 [Option ID = 618]
3.

4. 4 [Option ID = 620]

3 [Option ID = 619]



6) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. The city of Aurangabad was named after the infamous Mughal emperor, Aurangzeb, and no
visit to the city is complete without a visit to his tomb. Devoid of any architectural extravagance,
the tomb reflects the austerity that characterized Aurangzeb and his reign.

2. Among the several historical monuments that Aurangabad boasts of, is the Daulatabad fort
located 16 kilometers northwest of Aurangabad in Daulatabad, also known as Deogiri.
Muhammad-bin-Tuglaq had shifted his capital here, which was later relocated to Delhi.

3. The fort is bare and reflects the barrenness of the land around it. The importance of the fort
lay in its extraordinary strength, the ingenious way it was built to fight off enemies and the
mechanisms used to defend it. History testifies that this fort was never captured in battle, such
was its brilliance. The view from the top of the fort offers tourists a sweeping view of the
surrounding land: rough, barren and rocky. At the summit there is also a specimen of a
massive metal canon, one of the few remaining metal canons of its type.

4. A tour of the fort can be quite an exhausting experience even in early February, with the sun
beating down through the arid atmosphere. A drink of nariyal pani or tender coconut water is
refreshing and a must !

5. After lunch, we proceeded to Bibi ka Magbara. Built by Mughal Prince Azam Shah in loving
memory of his mother, Begum Rabia Durani, wife of Aurangzeb, this monument was intended
to be a replica of the Taj Mahal.

6. Unfortunately, the monument is but a poor replica of the Taj Mahal, lacking the architectural
brilliance, and dazzling beauty of the unparalleled Taj. The mesmerizing craftsmanship that
marked the architectural monuments of Akbar and Shah Jahan was pitifully lost in the later
years of the Mughal reign. Bibi ka Magbara is an eloquent example. Nevertheless, the
monument is worth a visit, if only to understand this transition in Mughal architecture.

The word opposite in meaning to the word ‘infamous’ is

(1) Notorious
(2) Reputable
(3) Dubious
(4) Evil

[Question ID = 156][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q126]

1. 1 [Option ID = 621]
2. 2 [Option ID = 622]
3.

4. 4 [Option ID = 624]

3 [Option ID = 623]



7) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. The city of Aurangabad was named after the infamous Mughal emperor, Aurangzeb, and no
visit to the city is complete without a visit to his tomb. Devoid of any architectural extravagance,
the tomb reflects the austerity that characterized Aurangzeb and his reign.

2. Among the several historical monuments that Aurangabad boasts of, is the Daulatabad fort
located 16 kilometers northwest of Aurangabad in Daulatabad, also known as Deogiri.
Muhammad-bin-Tuglaq had shifted his capital here, which was later relocated to Delhi.

3. The fort is bare and reflects the barrenness of the land around it. The importance of the fort
lay in its extraordinary strength, the ingenious way it was built to fight off enemies and the
mechanisms used to defend it. History testifies that this fort was never captured in battle, such
was its brilliance. The view from the top of the fort offers tourists a sweeping view of the
surrounding land: rough, barren and rocky. At the summit there is also a specimen of a
massive metal canon, one of the few remaining metal canons of its type.

4. A tour of the fort can be quite an exhausting experience even in early February, with the sun
beating down through the arid atmosphere. A drink of nariyal pani or tender coconut water is
refreshing and a must !

5. After lunch, we proceeded to Bibi ka Magbara. Built by Mughal Prince Azam Shah in loving
memory of his mother, Begum Rabia Durani, wife of Aurangzeb, this monument was intended
to be a replica of the Taj Mahal.

6. Unfortunately, the monument is but a poor replica of the Taj Mahal, lacking the architectural
brilliance, and dazzling beauty of the unparalleled Taj. The mesmerizing craftsmanship that
marked the architectural monuments of Akbar and Shah Jahan was pitifully lost in the later
years of the Mughal reign. Bibi ka Magbara is an eloquent example. Nevertheless, the
monument is worth a visit, if only to understand this transition in Mughal architecture.

The word closest in meaning to the word ‘barren’ is
(1) Fertile
(2) Lush

(3) Dry
(4) Infertile

[Question ID = 157][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q127]

1. 1 [Option ID = 625]
2. 2 [Option ID = 626]
3.

4. 4 [Option ID = 628]

3 [Option ID = 627]



8) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. The city of Aurangabad was named after the infamous Mughal emperor, Aurangzeb, and no
visit to the city is complete without a visit to his tomb. Devoid of any architectural extravagance,
the tomb reflects the austerity that characterized Aurangzeb and his reign.

2. Among the several historical monuments that Aurangabad boasts of, is the Daulatabad fort
located 16 kilometers northwest of Aurangabad in Daulatabad, also known as Deogiri.
Muhammad-bin-Tuglaq had shifted his capital here, which was later relocated to Delhi.

3. The fort is bare and reflects the barrenness of the land around it. The importance of the fort
lay in its extraordinary strength, the ingenious way it was built to fight off enemies and the
mechanisms used to defend it. History testifies that this fort was never captured in battle, such
was its brilliance. The view from the top of the fort offers tourists a sweeping view of the
surrounding land: rough, barren and rocky. At the summit there is also a specimen of a
massive metal canon, one of the few remaining metal canons of its type.

4. A tour of the fort can be quite an exhausting experience even in early February, with the sun
beating down through the arid atmosphere. A drink of nariyal pani or tender coconut water is
refreshing and a must !

5. After lunch, we proceeded to Bibi ka Magbara. Built by Mughal Prince Azam Shah in loving
memory of his mother, Begum Rabia Durani, wife of Aurangzeb, this monument was intended
to be a replica of the Taj Mahal.

6. Unfortunately, the monument is but a poor replica of the Taj Mahal, lacking the architectural
brilliance, and dazzling beauty of the unparalleled Taj. The mesmerizing craftsmanship that
marked the architectural monuments of Akbar and Shah Jahan was pitifully lost in the later
years of the Mughal reign. Bibi ka Magbara is an eloquent example. Nevertheless, the
monument is worth a visit, if only to understand this transition in Mughal architecture.

‘A drink of nariyal pani or tender coconut water is refreshing’. This is an example of a/an

(1) Complex sentence
(2) Simple sentence
(3) Interrogative sentence

(4) Compound sentence

[Question ID = 158][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q128]

1. 1 [Option ID = 629]
2. 2 [Option ID = 630]
3.

4. 4 [Option ID = 632]

3 [Option ID = 631]

Topic:- ENG_Q129-135_L2_P1_S1_CTET



1) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. Heidi began to examine all the nooks and corners to find out where it would be pleasantest
to sleep. In the corner near her grandfather’s bed she saw a short |adder against the wall; up
she climbed and found herself in the hayloft. There lay a large heap of fresh sweet-smelling
hay, while through a round window in the wall she could see right down the valley.

2. "l shall sleep up here, grandfather,” she called down to him, “It's lovely, up here. Come up
and see how lovely it is!”

3. “l am getting the bed ready now," she called down again, as she went busily to and fro at her
work,“but | shall want you to bring me up a sheet; you can't have a bed without a sheet, you
want it to lie upon.”

4. “All right,” said the grandfather, and presently he went to his cupboard, and after rummaging
about inside for a few minutes he drew out a long, coarse piece of stuff, which was all he had
to do duty for a sheet. He carried it up to the loft, where he found Heidi had already made quite
a nice bed. She had put an extra heap of hay at one end for a pillow, and had so arranged it
that, when in bed, she would be able to see comfortably out through the round window.

5. “That is capital,” said her grandfather; “now we must put on the sheet, but wait a moment
first," and he went and fetched another large bundle of hay to make the bed thicker so that the
child should not feel the hard floor under her — “there, now bring it here.” Heidi had got hold of
the sheet, but it was almost too heavy for her to carry; this was a good thing, however, as the
close thick stuff would prevent the sharp stalks of the hay running through and pricking her.
The two together now spread the sheet over the bed, and where it was too long or too broad,
Heidi quickly tucked it in under the hay. It looked now as tidy and comfortable a bed as you
could wish for, and Heidi stood gazing thoughtfully at her handiwork.

Heidi decided to sleep in the hayloft because

1) it had a ladder to go up.

(
(2) it had a heap of sweet-smelling hay.
(3) it had a round window.

(

4) it had a beautiful view of the valley.

[Question ID = 159][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q129]

1. 1 [Option ID = 633]
2. 2 [Option ID = 634]
3.

4. 4 [Option ID = 636]

3 [Option ID = 635]



2) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. Heidi began to examine all the nooks and corners to find out where it would be pleasantest
to sleep. In the corner near her grandfather’s bed she saw a short |adder against the wall; up
she climbed and found herself in the hayloft. There lay a large heap of fresh sweet-smelling
hay, while through a round window in the wall she could see right down the valley.

2. "l shall sleep up here, grandfather,” she called down to him, “It's lovely, up here. Come up
and see how lovely it is!”

3. “l am getting the bed ready now," she called down again, as she went busily to and fro at her
work,“but | shall want you to bring me up a sheet; you can't have a bed without a sheet, you
want it to lie upon.”

4. “All right,” said the grandfather, and presently he went to his cupboard, and after rummaging
about inside for a few minutes he drew out a long, coarse piece of stuff, which was all he had
to do duty for a sheet. He carried it up to the loft, where he found Heidi had already made quite
a nice bed. She had put an extra heap of hay at one end for a pillow, and had so arranged it
that, when in bed, she would be able to see comfortably out through the round window.

5. “That is capital,” said her grandfather; “now we must put on the sheet, but wait a moment
first," and he went and fetched another large bundle of hay to make the bed thicker so that the
child should not feel the hard floor under her — “there, now bring it here.” Heidi had got hold of
the sheet, but it was almost too heavy for her to carry; this was a good thing, however, as the
close thick stuff would prevent the sharp stalks of the hay running through and pricking her.
The two together now spread the sheet over the bed, and where it was too long or too broad,
Heidi quickly tucked it in under the hay. It looked now as tidy and comfortable a bed as you
could wish for, and Heidi stood gazing thoughtfully at her handiwork.

The grandfather ‘rummaged’ inside his cupboard means he looked for something

1) in an untidy manner.

(

(2) meticulously.
(3) systematically.
(

4) stealthily.

[Question ID = 160][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q130]

1. 1 [Option ID = 637]
2. 2 [Option ID = 638]
3.

4. 4 [Option ID = 640]

3 [Option ID = 639]



3) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. Heidi began to examine all the nooks and corners to find out where it would be pleasantest
to sleep. In the corner near her grandfather’s bed she saw a short |adder against the wall; up
she climbed and found herself in the hayloft. There lay a large heap of fresh sweet-smelling
hay, while through a round window in the wall she could see right down the valley.

2. "l shall sleep up here, grandfather,” she called down to him, “It's lovely, up here. Come up
and see how lovely it is!”

3. “l am getting the bed ready now," she called down again, as she went busily to and fro at her
work,“but | shall want you to bring me up a sheet; you can't have a bed without a sheet, you
want it to lie upon.”

4. “All right,” said the grandfather, and presently he went to his cupboard, and after rummaging
about inside for a few minutes he drew out a long, coarse piece of stuff, which was all he had
to do duty for a sheet. He carried it up to the loft, where he found Heidi had already made quite
a nice bed. She had put an extra heap of hay at one end for a pillow, and had so arranged it
that, when in bed, she would be able to see comfortably out through the round window.

5. “That is capital,” said her grandfather; “now we must put on the sheet, but wait a moment
first," and he went and fetched another large bundle of hay to make the bed thicker so that the
child should not feel the hard floor under her — “there, now bring it here.” Heidi had got hold of
the sheet, but it was almost too heavy for her to carry; this was a good thing, however, as the
close thick stuff would prevent the sharp stalks of the hay running through and pricking her.
The two together now spread the sheet over the bed, and where it was too long or too broad,
Heidi quickly tucked it in under the hay. It looked now as tidy and comfortable a bed as you
could wish for, and Heidi stood gazing thoughtfully at her handiwork.

The opposite of the word ‘coarse’ as used in the text is

(1) Rough
(2) Scratchy
(3) Soft

(4) Refined

[Question ID = 161][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q131]

1. 1 [Option ID = 641]
2. 2 [Option ID = 642]
3.

4. 4 [Option ID = 644]

3 [Option ID = 643]



4) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. Heidi began to examine all the nooks and corners to find out where it would be pleasantest
to sleep. In the corner near her grandfather’s bed she saw a short |adder against the wall; up
she climbed and found herself in the hayloft. There lay a large heap of fresh sweet-smelling
hay, while through a round window in the wall she could see right down the valley.

2. "l shall sleep up here, grandfather,” she called down to him, “It's lovely, up here. Come up
and see how lovely it is!”

3. “l am getting the bed ready now," she called down again, as she went busily to and fro at her
work,“but | shall want you to bring me up a sheet; you can't have a bed without a sheet, you
want it to lie upon.”

4. “All right,” said the grandfather, and presently he went to his cupboard, and after rummaging
about inside for a few minutes he drew out a long, coarse piece of stuff, which was all he had
to do duty for a sheet. He carried it up to the loft, where he found Heidi had already made quite
a nice bed. She had put an extra heap of hay at one end for a pillow, and had so arranged it
that, when in bed, she would be able to see comfortably out through the round window.

5. “That is capital,” said her grandfather; “now we must put on the sheet, but wait a moment
first," and he went and fetched another large bundle of hay to make the bed thicker so that the
child should not feel the hard floor under her — “there, now bring it here.” Heidi had got hold of
the sheet, but it was almost too heavy for her to carry; this was a good thing, however, as the
close thick stuff would prevent the sharp stalks of the hay running through and pricking her.
The two together now spread the sheet over the bed, and where it was too long or too broad,
Heidi quickly tucked it in under the hay. It looked now as tidy and comfortable a bed as you
could wish for, and Heidi stood gazing thoughtfully at her handiwork.

‘That is capital’, is

1) an expression of surprise.

(

(2) an expression of delight.
(3) an expression of disgust.
(

4) an expression of annoyance.

[Question ID = 162][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q132]

1. 1 [Option ID = 645]
2. 2 [Option ID = 646]
3.

4. 4 [Option ID = 648]

3 [Option ID = 647]



5) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. Heidi began to examine all the nooks and corners to find out where it would be pleasantest
to sleep. In the corner near her grandfather’s bed she saw a short |adder against the wall; up
she climbed and found herself in the hayloft. There lay a large heap of fresh sweet-smelling
hay, while through a round window in the wall she could see right down the valley.

2. "l shall sleep up here, grandfather,” she called down to him, “It's lovely, up here. Come up
and see how lovely it is!”

3. “l am getting the bed ready now," she called down again, as she went busily to and fro at her
work,“but | shall want you to bring me up a sheet; you can't have a bed without a sheet, you
want it to lie upon.”

4. “All right,” said the grandfather, and presently he went to his cupboard, and after rummaging
about inside for a few minutes he drew out a long, coarse piece of stuff, which was all he had
to do duty for a sheet. He carried it up to the loft, where he found Heidi had already made quite
a nice bed. She had put an extra heap of hay at one end for a pillow, and had so arranged it
that, when in bed, she would be able to see comfortably out through the round window.

5. “That is capital,” said her grandfather; “now we must put on the sheet, but wait a moment
first," and he went and fetched another large bundle of hay to make the bed thicker so that the
child should not feel the hard floor under her — “there, now bring it here.” Heidi had got hold of
the sheet, but it was almost too heavy for her to carry; this was a good thing, however, as the
close thick stuff would prevent the sharp stalks of the hay running through and pricking her.
The two together now spread the sheet over the bed, and where it was too long or too broad,
Heidi quickly tucked it in under the hay. It looked now as tidy and comfortable a bed as you
could wish for, and Heidi stood gazing thoughtfully at her handiwork.

The fact that grandfather put another bundle of hay to make Heidi's bed thicker shows

1) his loving concern for his granddaughter.

(
(2) his dominating nature.
(3) his selflessness.

(

4) his patience towards his granddaughter.

[Question ID = 163][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q133]

1. 1 [Option ID = 649]
2. 2 [Option ID = 650]
3.

4. 4 [Option ID = 652]

3 [Option ID = 651]



6) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. Heidi began to examine all the nooks and corners to find out where it would be pleasantest
to sleep. In the corner near her grandfather’s bed she saw a short |adder against the wall; up
she climbed and found herself in the hayloft. There lay a large heap of fresh sweet-smelling
hay, while through a round window in the wall she could see right down the valley.

2. "l shall sleep up here, grandfather,” she called down to him, “It's lovely, up here. Come up
and see how lovely it is!”

3. “l am getting the bed ready now," she called down again, as she went busily to and fro at her
work,“but | shall want you to bring me up a sheet; you can't have a bed without a sheet, you
want it to lie upon.”

4. “All right,” said the grandfather, and presently he went to his cupboard, and after rummaging
about inside for a few minutes he drew out a long, coarse piece of stuff, which was all he had
to do duty for a sheet. He carried it up to the loft, where he found Heidi had already made quite
a nice bed. She had put an extra heap of hay at one end for a pillow, and had so arranged it
that, when in bed, she would be able to see comfortably out through the round window.

5. “That is capital,” said her grandfather; “now we must put on the sheet, but wait a moment
first," and he went and fetched another large bundle of hay to make the bed thicker so that the
child should not feel the hard floor under her — “there, now bring it here.” Heidi had got hold of
the sheet, but it was almost too heavy for her to carry; this was a good thing, however, as the
close thick stuff would prevent the sharp stalks of the hay running through and pricking her.
The two together now spread the sheet over the bed, and where it was too long or too broad,
Heidi quickly tucked it in under the hay. It looked now as tidy and comfortable a bed as you
could wish for, and Heidi stood gazing thoughtfully at her handiwork.

From the way Heidi prepared her little bed shows

1) her resourcefulness.

(

(2) her diligence.

(3) her care for her grandfather.
(

4) her joyful nature.

[Question ID = 164][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q134]

1. 1 [Option ID = 653]
2. 2 [Option ID = 654]
3.

4. 4 [Option ID = 656]

3 [Option ID = 655]



7) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. Heidi began to examine all the nooks and corners to find out where it would be pleasantest
to sleep. In the corner near her grandfather’s bed she saw a short |adder against the wall; up
she climbed and found herself in the hayloft. There lay a large heap of fresh sweet-smelling
hay, while through a round window in the wall she could see right down the valley.

2. "l shall sleep up here, grandfather,” she called down to him, “It's lovely, up here. Come up
and see how lovely it is!”

3. “l am getting the bed ready now," she called down again, as she went busily to and fro at her
work,“but | shall want you to bring me up a sheet; you can't have a bed without a sheet, you
want it to lie upon.”

4. “All right,” said the grandfather, and presently he went to his cupboard, and after rummaging
about inside for a few minutes he drew out a long, coarse piece of stuff, which was all he had
to do duty for a sheet. He carried it up to the loft, where he found Heidi had already made quite
a nice bed. She had put an extra heap of hay at one end for a pillow, and had so arranged it
that, when in bed, she would be able to see comfortably out through the round window.

5. “That is capital,” said her grandfather; “now we must put on the sheet, but wait a moment
first," and he went and fetched another large bundle of hay to make the bed thicker so that the
child should not feel the hard floor under her — “there, now bring it here.” Heidi had got hold of
the sheet, but it was almost too heavy for her to carry; this was a good thing, however, as the
close thick stuff would prevent the sharp stalks of the hay running through and pricking her.
The two together now spread the sheet over the bed, and where it was too long or too broad,
Heidi quickly tucked it in under the hay. It looked now as tidy and comfortable a bed as you
could wish for, and Heidi stood gazing thoughtfully at her handiwork.

The two together now spread the sheet over the bed. The word underlined is a/an

1) Adjective

(

(2) Preposition
(3) Conjunction
(

4) Noun

[Question ID = 165][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q135]

1. 1 [Option ID = 657]
2. 2 [Option ID = 658]
3.

4. 4 [Option ID = 660]

3 [Option ID = 659]

Topic:- ENG_Q136-150_L2_P1_S1_CTET

1) CALP - Cognitive Academic Language Proficiency deals with

1) Formal academic learning for content areas

(

(2) Formal academic learning for English literature

(3) Formal academic learning for improving debating skill
(

4) Formal academic learning for psychology only

[Question ID = 166][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q136]

A w N =

1 [Option ID = 661]
2 [Option ID = 662]
3 [Option ID = 663]
4 [Option ID = 664]



2) In a communicative language classroom, the teacher uses a less

1) Teacher-centered classroom management approach

(
(2) Student-centered classroom management approach
(3) Text-centered classroom management approach

(

4) Assessment-centered classroom management approach

[Question ID = 167][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q137]
1 [Option ID = 665]
2 [Option ID = 666]
3 [Option ID = 667]
4 [Option ID = 668]

A wN =

3) Direct method uses which of the two components to teach a language :

1) Audio-lingual method and Audio-visual method

(
(2) Audio-lingual method and Grammar translation method
(3) Audio-lingual method and Structural approach

(

4) Audio-lingual method and Communicative approach

[Question ID = 168][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q138]
1 [Option ID = 669]
2 [Option ID = 670]
3 [Option ID = 671]
4 [Option ID = 672]

A wWN =

4) In Lata’s class a conversation is taking place between two students — Ajay and Abha. Sunil
needs to take the conversation forward. What skill is Lata testing ?

(1) Only listening

(2) Listening and speaking
(3) Listening and reading
(4) Only speaking

[Question ID = 169][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q139]
1 [Option ID = 673]
2 [Option ID = 674]
3 [Option ID = 675]
4 [Option ID = 676]

A W N -

5) Nazma is calculating the difficulty level of the test questions in a language test. In one of her
guestions she notices the difficulty level has a value of 30. What should Nazma do to the item ?

(1) The item should be kept in the test.

(2) The item should be discarded from the test.
(3) The item is moderately difficult for the test.
(4) The item is a good question for the test.

[Question ID = 170][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q140]
1 [Option ID = 677]
2 [Option ID = 678]
3 [Option ID = 679]
4 [Option ID = 680]

A w N =



6) In Silent Period, the learner
(1) is processing the language
(2) is learning facial expressions
(3) is not learning the language
(4) is unable to understand the language

[Question ID = 171][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q141]
1. 1 [Option ID = 681]
2. 2 [Option ID = 682]
3. 3 [Option ID = 683]
4. 4 [Option ID = 684]

7) ELL students who are learners benefit from having information presented through
visual mediums.
(1) visual

(2) auditory

(3) kinaesthetic

(4) spatial

[Question ID = 172][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q142]
1. 1 [Option ID = 685]
2. 2 [Option ID = 686]
3. 3 [Option ID = 687]
4. 4 [Option ID = 688]

8) In Grammar translation method, grammar is taught
(1) inductively
(2) deductively
(3) without explanation

(4) covertly

[Question ID = 173][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q143]
1. 1 [Option ID = 689]
2. 2 [Option ID = 690]
3. 3 [Option ID = 691]
4. 4 [Option ID = 692]

9) Harender gives his students flashcards with different scenes. He speaks a statement and the
student with that scene needs to raise their hand. What skill is Harender testing ?

(1) Reading

(2) Listening

(3) Speaking

(4) Visualization

[Question ID = 174][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q144]
1. 1 [Option ID = 693]
2. 2 [Option ID = 694]
3. 3 [Option ID = 695]
4. 4 [Option ID = 696]



10) Neelam is planning a test for her students. She gives them a sentence and underlines a

particular word. Using multiple choice items she wants them to choose the word which is the
antonym of the underlined word. What subskill of language is Neelam testing ?

(1) Listening
(2) Reading
(3) Vocabulary
(

4) Grammar

[Question ID = 175][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q145]
1. 1 [Option ID = 697]

2. 2 [Option ID = 698]

3. 3 [Option ID = 699]

4. 4 [Option ID = 700]

11) Guided reading finds its psychological genesis in

(1) Vygotsky’s Zone of Proximal Development
(2) Piaget's Learning Theory

(3) Thorndike's Learning Theory

(4) Skinner’s Operant Conditioning

[Question ID = 176][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q146]
1. 1 [Option ID = 701]

2. 2 [Option ID = 702]
3. 3 [Option ID = 703]
4. 4 [Option ID = 704]

12) Poonam is getting her students to detect rhyming sounds in words. By doing so she is
strengthening their
(1) phonological awareness
(2) morphological awareness
(3) graphological awareness

(4) grammar awareness

[Question ID = 177][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q147]
1. 1 [Option ID = 705]

2. 2 [Option ID = 706]

3. 3 [Option ID = 707]

4. 4 [Option ID = 708]

13) Sudha wants to model! fluent reading to her students. Which reading strategy should she
implement in her class ?
(1) Skimming
(2) Scanning
(3) Silent reading
(4) Read-aloud

[Question ID = 178][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q148]
1. 1 [Option ID = 709]

2. 2 [Option ID = 710]

3. 3 [Option ID = 711]

4. 4 [Option ID = 712]



14) Why is it necessary to teach students, strategies for learning new vocabulary ?

(1) So that students can acquire new vocabulary on their own
(2) So that students can remember the words they learnt

(3) So that students can acquire a new language

(4) So that students can become good learners

[Question ID = 179][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q149]
1 [Option ID = 713]
. 2 [Option ID = 714]
3 [Option ID = 715]
4 [Option ID = 716]

AW N =

15) If you are appointed as a language teacher, what type of role will you like to play in the
classroom ?

To decide what to teach and how to teach.
To create situations for learning and let the students learn.
To reproduce the text before the learners.

a0 oo

To act as a facilitator and provide cues wherever necessary.

(1)a,band c
(2)b,cand d
(3)a,candd
(4)a,bandd

[Question ID = 180][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_ENGLISH_Q150]
1 [Option ID = 717]
2 [Option ID = 718]
3 [Option ID = 719]
4 [Option ID = 720]

N wnN =






